I. Burdens of Proof: Production, Persuasion and Presumptions
A. Model
1. Rule of law system
a. Basic structure

i. Major premise: Rule of law does exist

ii. Minor premise: Facts

iii. Legal conclusion: Imposition of law by cts/jury (apply rule of law to the facts)

b. Problems with this model

i. Model is highly fictitious, it is based on the idea that there is a pre-existing norm, that we can search for the facts and that a legal conclusion flows when you apply the facts to the norm

ii. Legal system used to be conceptualized as judges/lawyer making law every time they apply law (which to a certain extent they do) than there can’t be some pre-existing norm for them to apply

(a) Legal rule itself becomes the result of discretionary judgments

(b) BUT in most cases a rule of law exists but it is more a consensus judgment than a pre-existing rule

(1) Stare decisis = consensus judgment

(1) Even if there is no such thing as a rule of law, stare decisis sort of creates one

c. Scalia’s literalism is trying to rescue the rule of law system

i. If rule of law doesn’t have meaning than law becomes discretionary, if law is discretionary than there is not such thing as a rule of law system
ii. He is trying to create more situations where the rule of law exists, whether or not the rule he creates is good/bad from policy standpoint

iii. Statutory interpretation → increasing # of times when Scalia is right and there is an objective rule of law, problem is when he tries to apply this line of thinking to Const interpretation

(a) Ambiguous statute

(1) Easterbrook → send it back to leg, can’t have ambiguous statues in rule of law system

(2) Posner → judges job is to figure out what leg intended to do with statute and create rule of law out of ambiguous statute

2. Evidence is not about major premise (that is for Con law/Admin) it is about the minor premise

a. Evidence rules are the rules we apply to try to figure out what the minor premise in a situation is

b. Evidence is based on 2 major philosophical assumptions

i. That an objective reality does exist; AND

ii. It is possible for human beings to perceive this objective reality

c. 2 Kinds of minor premises
i. General minor premise: Something that is true in all cases → your assumptions about how the world is
ii. Specific minor premise: Specific facts of this particular case

(a) Use narrative memories of individuals (usually interested parties) OR

(b) Documentary evidence to reconstruct a past event

3. Analytical model for minor premise

a. x = contested fact → Once you have a contested fact go to a probability situation
i. Burden of production
(a) A =  0 % that x occurred

(b) D = 100% that x occurred

(c) B = Reasonable people can agree whether x exists → if don’t get to this point than directed verdict (DV) for the defense

(d) C = Reasonable people CANNOT disagree that x exists → if get to this point than DV for Plaintiffs

(1) Area b/tw A-B; C-D is controlled by judge

(2) Area b/tw B-C is controlled by jury → reasonable people can disagree over whether x exists or not

(3) No C-D area in crim trial b/c 6th amendment right to jury trial

ii. Burden of persuasion
(a) More likely than not (preponderance) → 51%

(b) Clear and convincing → 75% (want to be very sure that x exists

(c) Guilty beyond a reasonable doubt → 95%

(d) Maybe 4th category for death penalty cases, moral certainty → 99%

b. BN thinks that B, C are variables not constants (long debate over)

i. B, C have to vary b/c can’t know what production burden is unless you know what persuasion burden is

ii. Have to know how sure jury has to be before know whether or not reasonable people could disagree

c. How do you decide who bears the burden?

i. Burden allocation can be outcome determinative
ii. EX: Florida felon disenfranchisement

(a) Richardson v. Ramirez → Not a violation of EPC to disenfranchise felons b/c Art 2 of 14th amendment contemplated it, so can’t violate Art 1 if it was anticipated in Art 2

(b) Hunter v. Underwood → SC says that if felon disenfranchisement provisions adopted with a discriminatory intent to prevent blacks from voting, then violates 14th, 15th amendments

(1) Could have had jurisprudence based on subjective impact → if impact one group disproportionately? → more P friendly

(2) SC adopted jurisprudence based on subjective intent

(c) Florida in 1868 adopts new Const w/felony disenfranchisement provisions, and they make failing to carry out employment obligations larceny, a felony, evidence that intent of this provision was to disenfranchise blacks, in 1968 readopt Const w/out larceny provision

(d) In current challenge, who had burden to prove intent to discriminate?

(1) X is intent

· If burden is on P then not going to be able to prove that 1968 convention had discrim intent

· If burden is on D (Florida) then P is going to survive SJ b/c not enough evid to disprove discrim intent

(2) In our system require weak group (group claiming discrim) to come forward and prove that gov’t intended the disproportionate impact
(3) Reenactment of 1868 provision (which there is evid was done with discrim intent) alters the proof problem

· No evid to say that 1968 convention had discrim intent of 1868 convention in absence of some evid; OR

· Reenactment has some sort of probative force and the fact that P has demonstrated 1868 intent, should move burden of production to reenacting part to demonstrate non-discriminatory attitude

· No law on this question at all, how to allocate production burden with cnx to something discrim that occurred in past

d. Where you place the production burden depends on how much error you are willing to tolerate and in which direction

B. Burden of Persuasion
1. Due process 
a. In re Winship (1122) (SC 1970)
i. DP requires use of BRD standard of persuasion when liberty at risk for crim violation, even in juvenile ct

ii. BN thinks that there is a sig difference b/tw BRD and CaC b/c the standard provides guidance to a jury about which way to tilt when they aren’t sure

(a) Motivation for using BRD is that can never really know if someone committed crime or not, so want to be very sure before suspend their liberty

(b) High burden of persuasion means higher burden of production

· Have to present enough evid that jury could find BRD that D is guilty

iii. Juvenile proceeding is a civil commitment proceeding (standard for civil commitment is preponderance)

(a) In juvy proceeding and civil commitment are making a judgment about future (as opposed to crim where are making a judgment about past)

(1) In juvenile ct trying to help kid by putting him away, not incarcerating to punish

(2) When making prediction about future, should err on side of caution and say that DP requires BRD (are making prediction about future based on past event)

(b) Civil commitment preponderance standard

(1) Can’t know future BRD → can be 95% sure that something happened in past, can never be 95% sure that something is going to happen in future, so CaC okay to use in civil commitment

b. Bail → United States v. Salerno (1131)(SC 1987)

i. CaC standard

ii. Imprisoning someone even for definite period of time (until trial) still loss of liberty and should have higher standard

c. Parental termination

i. Preponderance argument 

(a) If 51% chance that kid is being abused, then should be taken away
(b) Error deflection requires mild standard of proof

ii. CaC argument

(a) Taking away kid could be harmful as well

(b) Problem is that difference b/tw CaC and RD is not very much

d. Prelim hearings in general → Preponderance

i. Lego v. Twomey (1125) (SC 1972) → Voluntariness of confession determination

(a) Argument for RD

(1) If want error deflection towards D require RD b/c confession is huge in persuading jury about RD

(b) SC holds that just b/c final decision has to be BRD, component pieces don’t

ii. Basically all prelim determinations (besides bail) are preponderance

e. Summary

i. Winship Rule: DP requires gov’t to establish every element of crim offense BRD

ii. This rule deflects error very significantly against the state, along with fact that judge can’t direct a verdict there is a sense of large cost of Winship rule (lots of guilty going free)

2. Allocation of Burden

a. Intent
i. 5 Tiers of moral fault (from most to least blameworthy)

(a) Purposeful
(1) Malice aforethought

(2) Ex: Pump gas into ship to sterilize against bubonic plague, if pump gas into ship with intent to kill someone who you knew was down there → Purposeful act

(b) Intentional
(1) Major confusion b/tw intentional and purposeful → but intentional slightly less blameworthy

(2) If knew a someone was down and intended to pump gas, but not intending to kill (just didn’t care that he was going to die) then = intentional

(c) Reckless

(1) Disregard for what you are doing

(2) Know that people are usually down there and pump gas in w/out checking

(d) Negligence
(1) Look around before pump gas but don’t look hard

(e) Strict liability
(1) Do fabulous search but miss the guy

ii. Mullaney v. Wilbur (1975 Maine) (Handout)

(a) Very hard to establish level of intent, burden of proof is crucial and usually person who has burden is going to lose
(b) Maine makes a distinction b/tw intentional and malice aforethought

(1) If establish that act was done intentional, then presumption of malice aforethought kicks in unless D (not gov’t) proves by preponderance that something would negate malice aforethought (affirmative defense)

(2) Maine only has one crime of felonious murder, if D wants to prove manslaughter, then burden is on D to prove a lesser mens rea, otherwise presumed to have malice aforethought

(3) Historically difference b/tw murder and manslaughter relevant b/c 

· Different stigma

· Different prison terms

· So should get BRD standard

· ** READ THIS CASE

(c) SC says that even if you define malice aforethought outside of the crime (so not one of the elements of crime that the prosecution has to prove), Winship rule still reaches over and says that it is a fact of such centrality that gov’t has to prove BRD

(1) DP requires that P prove malice aforethought?? 

(2) DP says that can’t make D prove that didn’t have malice aforethought

· Failure to prove lesser mens rea cannot kick in presumption to raise intentional means rea to malice aforethought

b. Affirmative defenses
i. Patterson v. New York (1096) (SC 1972) (LL 156)

(a) NY statute that says if act under EED (extreme emotional disturbance) than can mitigate murder to manslaughter, but D has to establish EED by preponderance
(b) SC holds that not a violation of DP to make D establish EED

(1) EED doesn’t have historical relevance of malice aforethought, is modern attempt to bring in psych

(2) When there is an overlap b/tw defense and proving elements of the offense then P has to prove under Mullaney, but an affirmative defense is not an element of the crime and not a violation of DP to force D to prove

(c) Dissent

(1) Affirmative defenses involve mental state, where D falls is something that state should have to prove in deciding punishment

(2) Patterson is inviting states to define crimes narrowly and shift out to D crucial facts that have been relevant to proving elements of offenses

· Gov’t would take facts it has trouble proving and say they are affirmative defenses

· There is a Const limit to this concern → 8th A and proportionality
ii. Martin v. Ohio (1104) (LL 157) (SC 1987)
(a) SC says okay to make D prove self-defense by preponderance of evid

(1) Only 2 states require D to prove self-defense, but doesn’t mean that it is unConst

(2) P has to prove all elements BRD, if they do that, then D has to prove by preponderance that she acted in self-defense and if she does that, then acquittal

(3) Self-defense is a complete defense so question of whether or not you committed the crime is inexorably tied up with defense → BN thinks this has to be a core Mullaney fact

(4) Most people thought that this case established that Patterson overruled Mullaney → that as long as define elements of the crime in such a way as to make affirmative defenses separate then burden would be on D to prove affirmative defense

(5) Lots of criticism b/c people didn’t think that 8 A was enough protection for D

(b) Dissent

(1) Worried about jury confusion → jury going to think that burden on everything is going to be shifted to D

· Maj says that jury will understand difference, that only get to affirmative D if gov’t has estab all other elements BRD
(2) Thinks that Patterson wrong, should go back to Mullaney rule (that if have historical sig, stigma and longer sentence than P should have to prove)

c. Enhanced sentencing

i. Jones v. United States (Supp 10)(SC 1999)

(a) Fed carjacking statute, if use a gun in cnx w/car jacking then get 15 yrs, if serious bodily harm results than get 25 years, if death results than get a life sentence

(b) Question is 

(1) 1 single crime of carjacking punishable by 15 yrs to life

· Judge making the decision about sentencing depending on how serious the victim was hurt OR

(2) 3 separate crimes (using gun to carjack, using gun to hurt someone while carjacking, using gun to kill someone while carjacking)

· If this is case then P have to prove each element (how serious someone hurt) BRD

(c) SC construes statute to be 3 separate crimes b/c are worried that if it is construed to be 1 crime will be unConst b/c of 6A and right to jury trial and DP under Mullaney

ii. United States v. Fatico (1136) (SC 1978) (LL 161)

(a) Under RICO have to find that D committed 3 defined crim acts, question is whether jury has to believe on same specific 3 crimes (if indicted for 6 crimes, ½ of jurors think did 1-3, other have think did 3-6)

(b) SC says that jury has to find BRD that D committed same 3 crimes, otherwise are defining away elements of the crime and violates DP

iii. Apprendi v. New Jersey (Supp 33) (SC 2000)

(a) NJ has hate crime statute that elevates sentence 5 years for any crime committed with intent of intimidating someone b/c of their race and that judge should make determination of whether or was hate crime
(b) Under Lego judge can decide on a sentence w/in range set by leg based on preponderance of evidence, but here the 5 year add on kicked the sentence out of the max range

(1) SC says that where sentencing enhancements kick over max, enhancements are de facto elements of a new crime and need to be determined BRD by a jury → otherwise violate 6A and DP

c. Policy of Winship is to deflect error on certain kinds of facts (those that tend to have historical sig, enhance sentence or stigma)

(1) If allow leg to define crime outside of these facts then are letting formalism trump policy 

(2) Problem is that now are have to ask the question which factors are sufficiently stigmatic, have historical significance, or enhance sentence enough to fall under Winship and which don’t?

· If say that judges have no sentencing discretion then are putting crim justice system in a straightjacket, no experimentation is possible

· If say that judges have discretion than D is always going to argue there are facts that make the case fall under Winship

d. Insanity defense

i. Old rule: P has to prove sanity BRD
(a) Problem with this rule is that if P forgets to prove sanity, then get a directed verdict b/c it is element of the crime, requiring P to prove sanity when D doesn’t bring it up is waste of time

ii. New rule: If D doesn’t raise the issue or if the conduct doesn’t raise a question about it, the judge will not require P to prove sanity BRD
(a) This rule de facto switches the production burden for sanity to D in most crim prosecutions 

(1) Question then arises how much evid does D need to put in before judge will say sanity is an issue and that persuasion burden on sanity switches back to P

· Production burden for D = Enough evid to convince RP that someone could have a reasonable doubt about D’s sanity

(2) The production burden is a function of the persuasion burden, if the persuasion burden rests with the gov’t, the production burden that rests with D moves radically toward zero

· Any reasonable doubt a very low production burden

(3) Where neither D or P put in any evidence of insanity, judges will basically direct a verdict of sanity (can’t bring of sanity after trial is over and say that it was element of crime that P didn’t prove and that judge has to DV)

· Problem with this is that looks like judge is directing verdict of guilty, which he can’t do in crim trial

iii. Oregon rule: If you want to raise an insanity defense, D has to prove insanity BRD

(a) Persuasion burden is on D, BRD

(b) Production burden = No reasonable jury could fail to find that D was insane → enormous production burden for D

iv. BN thinks this insanity is very hard to deal with w/in our model b/c insanity is an overlapping defense in terms of Mullaney, Patterson, Winship b/c insanity negates the existence of the mens rea that is needed as an element of the crime, I don’t think BN thinks that Oregon shifting is Const under cases
(a) HYPO: C passes Alibi Defense Act which says that whenever anybody attempts to establish an alibi defense using any witness he knew before the even, the jury must be instructed that they have to believe the alibi by a preponderance of the evidence before they can use it as a tool to acquit 

(1) How is this different from self-defense?

· This is about the act rather than the intent, while intents can sometimes be inferred from acts, acts can never be inferred from intent alone

· An alibi by necessity negates the very commission of the act, if you switch the burden on an alibi, are switching the burden on whether the underlying factual events actually took place

(2) Winship

· If you allow the alibi statute then are destroying Winship b/c are taking actual elements of the crime (actus reus) and making D prove them

(b) I think his point from this hypo was that if destroy Winship by switching actus reus to D, then are destroying it in the same way if you shift the mens rea

e. Sentencing factors

i. Recidivism

(a) SC says that recidivism is not an Apprendi fact

(b) Burden is preponderance (on D) and judge determines it 
ii. Cooperation

(a) This is downward departure, does Apprendi apply? Probably not

(b) Lower cts are saying that is preponderance (on D) and judge determines it
iii. Serious danger of D

(a) This falls under Winship (b/c involves more incarceration??)
iv. Aggravating factors

(a) If don’t bust the ceiling of the penalty then judge can determine by preponderance

v. All of these things give legislatures an incentive to avoid busting the Apprendi ceiling and defining the penalties very broadly, so are never going to go beyond even if include extra factors
f. Civil Trials

i. Gen assumption: Persuasion burden on P (party who is trying to change status quo) and it is preponderance
(a) Production burden switches as well, becomes very low 

(b) not a lot of evid needed that RP could think more likely than not that D did X
(c) This is really important in civil cases b/c if can get to jury and have nasty corp D they are probably going to convict

ii. Things to think about

(a) If D’s reputation will be seriously affected (there will be a substantial opprobrium) does that make us ratchet burden of persuasion up? If we ratchet up persuasion burden are also shifting up production burden (harder for P’s to get to jury)

(b) Deportation

(1) More than just monetary harms involved, so should get higher 

(c) Political Asylum

(1) In many cases if send back are sentencing to deprivation of liberty or death → shouldn’t the burden be much higher (at least CaC if not BRD)?

(d) Custody determinations

3. Admin of trial

a. Production burden control production evidence and persuasion burden tells jury how sure they have to be

b. No reason for jury to know anything about production burden, they only need to know what the persuasion burden is

i. Argument of dissent in Martin → if jury told 2 separate things then they are going to get confused 

(a) BN thinks this was powerful argument

(b) In Martin jury was told that burden on D to prove by prepond that committed murder in self-defense, but only if they thought that P has proved all the elements of crime BRD → confusing to jury b/c don’t know who has the burden on what facts a

c. When judge is fact-finder he needs to be precise on whether he is ruling on burden of production or burden of persuasion → for appeal makes big difference b/c different arguments need to be made depending on which burden you did or did not meet

i. If ruling on burden of production (A-B, C-D) then are judgments as a matter of law

(a) Appeal standard is de novo

(b) More likely that appeals ct is going to turn over

ii. If ruling on burden of persuasion (B-C) then is a fact determination and the trial judge is entitled to significant deference

(a) Can’t overturn trial fact determination unless judgment not substantiated by significant evidence

(b) Much harder case to make in appellate ct
C. Presumptions
1. Intro

a. Theory: Presumptions are a way to deal w/in model when there is not enough evid for P to satisfy production burden, but want P to get to jury 
i. Could alter the model → make D disprove things → but we don’t do this
ii. So we establish presumptions, which are using the model, but are cheating, are artificially pushing P forward, to get past point B

b. Structure

i. Basic fact: Launching paid that triggers the presumption

· Basic fact has to be proved the same way as any other contested fact

ii. Presumed fact: If you establish that basic fact exists, then presumed fact will exist as well

· So are proving presumed fact without actually proving it

iii. Linkage between basic fact and presumed fact (3 types)

(a) Irrebuttable presumption
(1) This isn’t really a presumption, but is fundamentally a rule of law

(2) Are saying that basic fact and presumed fact are the same thing

(b) Rebuttable presumption: If you prove basic fact, you have to find the presumed fact unless contrary evidence is introduced
(1) Gets you into C-D

(2) Shifts the production burden

(3) Says nothing about the persuasion burden

(4) CANNOT have presumptions in crim cases (only permissible inference) b/c no C-D in crim cases b/c of 6A right to jury trial and 5A right to remain silent (can’t force you to rebut)

· Oregon rule is presumption of sanity → probably not Const
(c) Permissible inference:  If basic is true you can infer existence of the presumed fact, but you don’t have to
(1) Basic fact satisfies the production burden, gets you into B-C range
(2) Doesn’t satisfy the persuasion burden

c. Types of Rebuttable presumptions

i. Thayer presumption: If you find the basic fact, you must find the presumed fact, unless it is rebutted

(a) How much evidence does it take to rebut? → Need to know what persuasion burden is

(b) Any contrary evidence bursts the presumption

(1) Model then shifts back to where it was before presumption took effect

(2) Often means pushes back to A-B and DV for P

(3) ** B/c Thayer presumption burst, often a permissible inference is better than a Thayer presumption **

(c) If not told otherwise, assume Thayer presumption
ii. Thayer plus: Inc amt of evidence needed to rebut

(a) NY juris is Thayer plus

(b) Sig confusion in these juris b/c not sure how much evidence is needed

(1) Judge needs to believe evid put in is credible

(2) Not just that a RP could believe, but evid has sig credibility 

iii. Balance: You have to produce enough evidence to balance the presumption

iv. Morgan presumption: You are shifting the burden of persuasion, not production (??)

v. Morgan Plus: Presumption not irrebutable, but has to go to jury to say that it is rebutted (guaranteed jury trial)

d. Types of permissible inference: relationship b/tw presumed fact and basic fact

i. No intrinsic probative value

(a) If permissible inference is rebutted → might be in A-B area
ii. Fact has probative value in itself → inference based on empirical evidence

(a) Permissible inference is nothing more than a reminder to the jury that existing fact standing alone is enough to satisfy production burden

(b) Rebuttal evidence doesn’t knock out real world relation between basic fact and presumed fact → up to jury to decide whether or not believe rebuttal evidence

(c) Even if there is rebuttal still in B-C area and jury gets to decide if believe rebuttal evidence or not

iii. True assumption (not really a permissible inference)

(a) This really is a rebuttable assumption
(b) Moves x to C-D area, so jury has to find that presumed fact is true in absence of contrary evidence
2. Presumptions in civil case

a. O’Dea v. Amodeo (11830
i. X is whether or not car was family car with inherent permission to drive

(a) P has to establish that is is family car and that dad is liable and therefore his insurance will pay

ii. Leg presumption that if fam member is driving fam car it is approved by owner of car (parent) and D has to rebut this presumption

(a) As long as P establishes that father owned car and son was driving there is presumption that it was family car (and son had permission to drive) and Dad’s ins has to pay

(b) Rebuttal evidence: Dad and son testify that it was dad’s car, no one else had permission to drive

iii. Does rebuttal evidence prevent the case from being decided for the P’s?

(a) If permissible inference then jury still gets to decide if they believe D’s → rebuttal evidence doesn’t knock it out b/c based no empirical assumption

(b) If presumption

(1) Rebuttal evidence bursts presumption and goes back to before presumption and P’s get DV against them for failure to satisfy production burden

(2) Should make the argument that if presumption burst, still are left with a permissible inference → this will at least get you to the jury

(3) This is why permissible inference may be BETTER than a presumption

b.  Hinds v. John Hancock Mutual Insurance Co (1162) (LL 164)
i. X is whether dad’s death was accidental
(a) Double indemnity ins policy for accidental death

(b) If it was suicide → no double indemnity 

(c) Jury found that it was suicide

ii. Maine has a presumption against suicide (= presumption of accidental death)

(a) This is more policy than empirical

(b) What kind of presumption is this and what result in the case

(1) Thayer presumption

· Pushes X to C-D so ins co has to rebut 

· If rebuts then presumption bursts and back to A-B b/c P can’t satisfy production burden w/out presumption

(2) Modified Thayer

· Ask about credibility of rebuttal evidence (require more but not sure how much more for modified Thayer) and then same result as regular Thayer

(3) Morgan

· Shift burden to ins co to prove that it was suicide

· If overwhelming evidence that it was suicide would DV against P

(4) Balanced presumption (what Maine says it is)

· If produce enough evidence that judge finds likely as not that presumed fact doesn’t exist then presumption drops out and ask whether P has enough evidence to satisfy production burden → judge says NO in this case and DV for ins co (overturning jury verdict)

(5) Morgan plus

· Might have saved jury verdict

· Morgan plus is like a guaranteed permissible inference → going to get to jury

c. United States v. Jessup (1174) (LL 165) → not Civil, is bail hearing
i. C passes Bail Reform Act which creates a presumption that if someone is charged with a serious drug offense they are presumed to be an unacceptable flight risk and can be kept in detention
(a) Presumption shifts burden to D to prove by preponderance that he is not a flight risk (shifts both production and persuasion burdens)

ii. DC Circuit

(a) Says that stat is unConst b/c shifts production and persuasion burden to D in absence of any evidence 

(b) If remain silent (invoke 5th amend privilege) then going to remain in jail

iii. 1st Circuit (Jessup) (Breyer)

(a) If construe this statute to be a presumption in context of criminal proceeding it will be violation of DP

(b) Demotes to a weak permissible inference

(1) Reminds magistrates that drug offenders are huge flights risk

(c) If was a Morgan Plus presumption

(1) Would take gov’t into B-C area and let magistrate decide whether or not he is a flight risk

(2) So I think that NB thinks that there is a real difference b/tw a Morgan plus and a permissible inference → maybe a strong permissible inference is more a Morgan plus

d. Texas Department of Community Affairs v. Burdine (SC 1981) (1189) (LL 167)
i. Is case deciding what the burden of proof is under Title VII

ii. X is discriminatory intent

(a) Gen default rule in civil cases: P bears production and persuasion burden by prepond

(b) If left like this no P would win in Title VII b/c hard to find hard evid of discrim intent 

iii. McDonnell Douglas (SC 1973)

(a) SC sets up MD presumption if prove prima facie case
(1) Member of protected class

(2) Applied for and qualified for job in question

(3) Not hired for job in question

(4) Job stayed open after you were turned down and someone else got it

(b) What kind of presumption does prima facie case get you

(1) Presumed inference; OR

· If left un-rebutted gets you to B-C area

· Prima facie means that enough evid that reasonable fact finder can find by prepond of evidence that discrim intent

(2) True presumption (rebuttable presumption) (mandatory presumption)

· Standing alone and un-rebutted would require a DV on issue of intentional discrim

· This is what SC meant
iv. What kind of presumption is MD presumption?

(a) 5th Circuit thought it was a Morgan presumption

(1) Didn’t want it to be Thayer b/c not enough protection for P

(2) So if prove basic facts of MD 

· Production burden on D (have to present rebuttal evidence to survive DV) BUT 

· Also shifted persuasion burden to D to prove that racial discrim did not occur

(b) Burdine says that MD presumption is Thayer presumption
(1) Real purpose of MD presumption is to act as evidentiary blackwall 

· Proffer non-discrim reason or suffer DV

(2) Trying to shake lose evid from D

v. Question now becomes what happens when presumption is rebutted?

(a) Powell says that the intrinsic probative force of link b/tw basic fact (prima facie case) and presumed fact (discrim intent) is enough to keep P in B-C area

(1) So he is basically saying that once presumption bursts then are left with a permissible inference

(2) BN thinks this collapse A-B and C-D into the B-C range

(3) Powell insists that persuasion burden never shifts → it is always on P

(4) P could win if

· D’s reason a pretext

· Additional evid of discrim

(b) Problem is that once presumption bursts, a lot of judges don’t treat as permissible inference and P is in between A-B

(1) If treat as permissible inference than are going to require fact-finding before dismiss for failure to satisfy production burden (permissible inference enough to get into B-C)

(c) Question today is if MD presumption is a 

(1) Policy presumption

· No probative value b/tw prima facie case and discrim intent → so once presumption bursts than P going to suffer DV

(2) Empirical presumption

· If based on empirical evidence, than once presumption burst are going to be left with permissible inference and going to get to jury

· This is standard way to read it

(d) If MD presumption your only evidence → can you win?? 

vi. Felony disenfranchisement

(a) BN argument

(1) Basic fact = past intentional discrim + reenactment with same discrim effect

(2) Presumed fact = Discrim intent with reenactment

(b) If this is the case then production burden shifts to state of Florida to come up with evidence that 1968 convention had no discrim intent 
(1) If Florida can’t come up with any evidence → than suffer DV 

(2) If Florida comes up with pretext then at least into B-C range and P can make case

e. Fed Rules: P has burden of persuasion on presumption and it is Thayer presumption by default

3. Presumptions in Criminal cases

a. Intro

i. CANNOT have a true presumption in crim cases, if they talk about presumption they mean a permissible inference

(a) If had a true presumption (get to C-D) which can’t do b/c is violation of 6A

(b) Violation of DP b/c would allow state to convict w/out any real evid

ii. Permissible inference (PI) useful b/c can artificially satisfy prosecutions production burden

(a) Gets them to the jury → huge in cases where lots of circumstantial evid and D is bad guy

(b) PI does NOTHING to proof standard → always BRD, always on P

iii. Permissible inference in crim context has to be a empirical permissible inference

(a) Policy inference would be unConst → violate DP

(b) Has to be real link b/tw basic fact and presumed fact

iv. Example: 3 fact situations, C tried to create presumption that all drugs came from abroad in order to get commerce hook and be able to prosecute in fed cts

(a) Possession of marijuana

(1) Basic fact is that 20% of marijuana is imported, 80% is domestically grown → sub 50% linkage b/tw basic fact (possession of marijuana) and presumed fact (that marijuana was imported from abroad)

(2) Leary (1205)

· Less than 50% correlation b/tw basic fact and presumed fact in crim context violates DP 

(b) Possession of cocaine

(1) 75% of coke is imported, 25% is domestically produces

· So link b/tw basic fact and presumed fact is 75% → CaC but not BRD

(2) Puts pressure on presumption b/c of inherent link b/tw persuasion and production burdens

· If we know that something is 75% true where persuasion burden is 98% → presumption standing alone can NEVER satisfy persuasion burden

(3) Analytical answer would be that this is unConst

· Reluctance to treat this way b/c 75% of the time it wouldn’t be UnConst

(4) Taylor (1117) (might want to read 1196-1237 and Taylor): Are we willing to live with full rigor of Taylor → If CaC evidence can satisfy production burden where persuasion standard is BRD?

· Prosecutors argument: That if have enough evidence for CaC standard in real world a reasonably jury could believe there was no RD (this is real situation b/c have real #’s used to create presumption)

· Normally if have CaC evidence enough to meet production burden and then let go to jury b/c can be used with other evidence to prove BRD, but what about this presumption on its own, w/no other evidence → probably not going to b/c okay b/c will invite facial review rather than review based on the facts of the case (Ulster)
(c) Possession of heroin

(1) 98% imported, 2% domestically produces → probably true BRD that heroin is imported
(2) Heroin presumption supported by underlying empirical evidence

(3) SC has consistently upheld

(4) Charge jury as permissible inference to find that heroin imported (without any evidence offered to prove truth, I think) 

· Think about how to phrase charge so that it doesn’t violate DP

b. County Court of Ulster County v. Allen (SC 1979) (1196) (LL 167)

i. Facts: X is possession of weapons, 4 people in car, in handbag of one and in the trunk

(a) Presumption of common possession: Anything possessed by one person is presumed to be possessed by everyone in the car

(b) P has presumption + real evidence (gun placed awkwardly in bag)

(c) Judge directs jury that this permissive presumption → can find that gun belonged to everyone but don’t have to

ii. D argues that presumption is unCosnt b/c is sub-50% (so this is Leary)

(a) Artificial linkage b/tw basic and presumed fact violates DP

(b) 2nd Circuit strikes down presumption on its face b/c link b/tw intrinsic and factual probability not enough to withstand 5A

iii. SC (Stevens)
(a) Have to review presumption in light of facts of the case, just because it might be unConst on its face doesn’t make it unConst as it was applied in the case

(b) Can use combination of inference + other evid to get to BRD

(c) BN doesn’t like this b/c

(1) Shouldn’t add dependent variables together to get to BRD

· Presumption is supposed to be a replication of real facts not an addition to them

(2) Hugely inefficient

· Requires case by case analysis

· Subjective analysis

· Not consistent or predictive

(3) No way to separate strength of presumption and strength of evidence

· Jury charges are impossible b/c either overvalue or undervalue presumption

· If link b/tw basic fact and presumed fact close enough no reason to tell jury about it → undervalue if don’t tell them (?)

· If link b/tw basic and presumed fact not close enough no reason to tell jury about presumption → overvalue if tell them (?)

iv. Good prosecutor will never rest solely on permissible inference b/c invites facial review

c. Sandstrom v. Montana (SC 1979) (1213)
i. Homicide case where jury charge says “law presumes that a person intended the ordinary consequences of his act”

ii. Problems with this charge

(a) Legal consequences are dramatically different depending on mental state (purposeful, intentional, negligent, reckless, SL)

(b) Basic fact (person committed homicide), presumed fact (had intentional mental state)

(1) Shifts burden of production and maybe burden of persuasion regarding mental state to D

(2) Violates Winship b/c reasonable jury could believe that burden of persuasion has been shifted to D

iii. Sandstrom doesn’t say that if all stat proves is that someone committed homicide it hasn’t satisfied its production burden, it just says that state can’t shift persuasion burden to D regarding mens rea

(a) It means that judge has to drafts his charge really carefully

(b) Charge can say that jury may infer (but can’t say presume) that a person intended the ordinary consequences of their act 

(c) So can use a permissible inference for intent but not a presumption

d. Francis v. Franklin (SC 1985) (1211) (LL 168)

i. Confusing jury charge regarding intent
ii. SC says can’t use words like “presumed”, “rebutted” b/c will always make it seem like burden of persuasion on intent is on D

e. Rose v. Clark (SC 1231) (1231) (LL 170) → Harmless error rule
i. D puts insanity into play, once insanity in play, gov’t has to prove sanity BRD

ii. Judge gives Mullaney charge (all homicide presumed to be malicious but can be rebutted)

(a) Reasonable jury thinks that if malice is what has to be proven, then D has to disprove malice

iii. SC says even if improper charge was given, it is clear from evidence that malice so overwhelmingly proved that we can so BRD that no reasonable jury could have harbored doubt about intent

(a) This is close to directing a verdict in a crim case

(b) Const problems

(1) DP → might be okay on this b/c there is enough evid

(2) 6th amendment right to jury violated

· Not giving jury a reasonable charge

· It is jury not judge who ALWAYS makes decision in crim cases → this decision takes decision away from jury

(c) Number of states have adopted dissenting rules

II. Hearsay

A. Definition

1. Model

a. Hearsay is about the nature of communication

i. If assume there is an objective reality (a tree) when a person perceives the objective reality make a picture in their head

ii. When want to describe the objective reality to a 3rd person use your communicative skills

iii. Indiv perceives reality, stores it in their mind and reproduces the reality through comm.

b. How can communication break down (4 legs of hearsay rule)

i. Input Legs

(a) Perception: Could have inaccurate perception

(b) Memory: Memory could fade/ change so no longer remembers the objective reality right
ii. Communication (Output legs)
(a) Ambiguity: Inaccurate transmission of objective reality to outside world
(b) Veracity: Lying

c. Testimony is accepted in US cts only if input legs and output legs of communication can be tested through cross-examination, which allows us to test the validity of the model and see if there was a breakdown anywhere

i. Hearsay is a double communication situation

(a) The reality that the jury is supposed to be reconstructing is described not by the person who actually perceived the objective reality BUT by a 3rd person who overhears a description of the objective reality (so can’t test input or output legs)

d. Terminology

i. Declarant: Person who made the perception of the objective reality

ii. Witness: Person who heard what the declarant said and is in court and able to be crossed

(a) Proponent and declarant can be same person → different rules

(b) Proponent and witness can be same person → different rules

iii. Proponent: Person who is putting the testimony in

(a) Sometimes rules will change depending on who proponent is (i.e. DA)

iv. Statement: Communicative bridge b/tw declarant and witness

(a) Can be verbal or visual → whatever declarant is communicating that witness is hearing/seeing
v. Purpose: What is inference that proponent wishes finder of fact to draw from the statement

(a) Truth

(1) Not going to let in b/c can’t cross declarant and test input/output legs of model

(2) If value of statement relies on reverse engineering then need to test the input/output legs

(b) Alt theory of why statement is admissible

(1) Don’t want it to come in for the truth (well you do) BUT have a theory of why the statement should come in on its own

(2) Can cross the witness about the statement

· Aren’t worried about input/output legs b/c all you care about is if the statement was made and can cross input/output legs of statement if witness is on stand

e. Should we have different rules for crim/civil cases

i. My guess is that BN thinks NO but

ii. There is increasing skepticism about the value of hearsay in civil cases b/c of immense time spent litigating hearsay issues (single biggest time sucker in US cts)

f. Leake v. Hagert (475) → example of classic hearsay
i. Rear-end tractor collision, statute that says tractor has to have light, both parties sue claiming neg on part of other party, farmer’s son told ins adjuster that light on tractor was out

ii. Line-up

(a) Proponent: Driver of passenger car

(b) Declarant: Farmer’s son

(c) Witness: Ins adjuster

(d) Statement: Light on tractor was out

(e) Purpose: Truth

iii. Trial ct admits, appeal saying it was reversible error, ct says was error to admit, but was harmless error

(a) He doesn’t think this can be harmless error unless overwhelming evid of negligence on one side

iv. How could we structure argument so look like something that is classic hearsay gets in

(a) If contemporaneous notes by adjuster → NO b/c can’t test statement son made

(b) Son sent telegram saying light was out → NO b/c can’t guarantee that telegram legit

(c) First-person affidavit by son → NO b/c can’t cross

(d) Ask ins adjuster how he reached his conclusion → NO b/c still relying on son’s statement

(e) What if ins adjuster there day before the accident and son says light is out in front of dad

(1) Offer for limited purpose of proving that the light was out → still have persuasion burden of proving light was out and can’t use statement to do it

(2) But statement could be used for compensatory damage, if jury believes then farmer is reckless not negligent

(f) Take home: Have to come up with theory of relevance which doesn’t turn on truth of the statement

(1) Offer for limited purpose of proving that statement was made (3 types)
· Verbal impact

· Statements of independent legal significance

· State of mind

(2) Rely on corrective charge to jury (that they can’t use statement to decide whether light actually out)

v. US law 

(a) there is no point where benefits of hearsay testimony outweigh its costs (loss of reliability)

(b) Use hearsay to exclude probative evid that jury should hear

2.  Verbal impact statements: Statement was made under circumstances where someone else heard it or should have heard it and no need to question input/output legs b/c don’t care if statement was accurate, only care about whether or not it was made

a. Usually law imposes some sort of consequence upon utterance of the words → notice?

i. No reverse engineering b/c only trying to prove that statement was made

ii. “Don’t step in the ketchup” example

(a) Wife of store manger heard her say to P who stepped and slipped in ketchup, “don’t step in the ketchup”
(1) Classic verbal impact b/c are offering to prove that P knew the ketchup was there before he stepped in it (therefore he had warning and store isn’t liable)

b. Central of Georgia Railway Co. v. Reeves (480)

i. P got misdiagnose for injury caused by RR accident, is trying to say that misdiagnosis had verbal impact and he should get inc damages

ii. Problem is that co is not liable for doctor’s misdiagnosis even if they are liable for accident → causation
c. HYPO: Will disinherits daughter and daughter claims disinheritance based on insane delusion, proponent has neighbor testify that “community” said she has done all this awful stuff

i. Proponent is arguing to get this is under verbal impact b/c if dad heard it (whether or not it was true) disinheritance might not be based on insane delusion

ii. It is NOT going to be admissible unless can cross declarant b/c declarant could be dad and he could be saying it b/c he was having an insane delusion 
2. Statements of independent legal significance: Words themselves have legal significance, verbal impact (or declarant’s intent in making the statement) is irrelevant

a. No need to reverse engineer

i. EX: Farmer puts mtgs his crop, bank going to FC, he wants to do something for neighbor who did him a favor, so gives him ½ his crop, bank it back, do they get it? Depends on what farmer said and substantive law regarding verbal gifts (have to make gift in presence of donor/donee + manifest intent to pass title)

(a) If farmer said “John that is your corn” → transfer title, in presence of both 

(1) Statement has indep legal sig

(b) Farmer tells bank that is John’s corn → not in presence of both → no indep legal sig

(c) Farmer tells pastor “that is John’s corn” → not in presence of both → no indep legal sig

b. Hickey v. Settlemier (LL 73) (484)

i. Defamation case where neighbor tells 20/20 2 things (P mistreats pets, operates in inhumane manner) on tape and reporter repeats one thing (that P steals pets) that neighbor said

ii. Hearsay?

(a) Videotaped statements

(1) Proponent = P

(2) Declarant = D

(3) Witness = videotape

· In order to get tape in need  to verify the veracity of tape (trace possession of videotape to make sure not doctored)

(4) Admissible → YES b/c indep legal sig (if the statements were made then are defamatory)

(b) Statement that reporter repeated on tape

(1) Proponent = P

(2) Declarant = D

(3) Witness (Multiple hearsay problem → so each layer needs to come under exception)
· Witness 1: Videotaped layer → have to trace possession to verify authenticity → then admissible
· Witness 2: Reporter

(4) Admissible → NO b/c reporter didn’t make it herself so not defamatory for just being uttered (no indep legal sig)
3. State of mind: Words have no verbal impact or indep sig but are offering statement in order to show state of mind of declarant

a. This is more analytically tenuous that previous 2 b/c ½ reverse engineering

i. There is no reason to worry about input legs (perception, memory) b/c don’t care about reality that statement trying to capture but there is every reason to worry about output legs (ambiguity and veracity) b/c declarant could be lying or witness could misunderstand communicative message

ii. EX: Declarant says “I am Napoleon” and proponent wants to infer that declarant is delusional (state of mind), doing this rests on 2 assumptions that you can’t cross witness about 

(a) That declarant actually thinks he is Napoleon → ambiguity (his name could  be Napoleon)

(1) Unless you can cross on ambiguity never sure you got an accurate representation of what was said

(2) BN thinks to use these statements is very risky

(b) That declarant is not lying about thinking he is Napoleon to get people to think he is delusional → veracity

b. 2 kinds of state of mind cases

i. Assertive: Intended to convey a message

(a) Can’t question veracity of declarant

(b) Ambiguity not as much of a problem?? (if declarant is clear)

(c) EX: Hear screech and look outside and see auto accident and yell down to someone on street and ask them if it is raining they say it is raining hard (or someone is carrying sign saying it is raining)

(1) Declarant is outside witness 

(2) Statement = It is raining (sign)

(3) Purpose = Being offered for truth that it is raining

(4) Admissible → NO b/c classic hearsay

· Assertive statement being offered for the truth (can be hearsay with no words)

ii. Non-assertive: Declarant didn’t intend to convey a message but does in fact convey a message

(a) Don’t need to question veracity BUT the more veracity not in question (the more sure that declarant didn’t intend to make a statement) the more you need to question ambiguity

(b) EX: Same accident except see man walking on street carrying an umbrella 

(1) Implied statement that it is raining

(2) Problem is can’t cross ambiguity leg

· He could be carrying umbrella b/c it is really sunny and wants to keep sun off

· If not intending to say anything then who knows why you are saying/doing what  you are doing

(3) Cts are letting in non-assertive (implied) statements

· Irony is more sure you are on the veracity leg (totally non-assertive) then more you question ambiguity leg

· BUT cts let in b/c so few of these statements → really hard to pick up on b/c people are so used to speech/conduct dichotomy so people don’t catch admissions of implied statements and since it is totally random and unpredictable when they do catch them might as well let them all in
4. State of mind cases

a. If want to get assertive statement of state of mind in have to characterize as non-assertive somehow

i. State v. Banks (LL 73) (489)
(a) D is on trial for killing her boyfriend, she is asserting battered women’s defense, P offers statements D made to his mom/sister that his girlfriend was abusive and he was scared of her under state of mind exception to hearsay = assertive statements of his state of mind
(b) Victims state of mind totally irrelevant

(1) Only person whose state of mind matters under state of mind exception is D’s

(2) D could offer witnesses to testify to her state of mind → that is admissible

(c) What if mom testified that D was bruised?

(1) Not hearsay b/c not assertive
· In US in order to be hearsay  have to have intention to make statement (why non-assertive statements are NOT hearsay)

· Bruise doesn’t require you to go back through mind of declarant

· Can draw inference that bruise is there b/c someone hit him if you want

(2) When looking for hearsay if you can go from the supposed out of ct event (statement) to the truth w/out going through the mind of the declarant you either have non-hearsay (verbal impact, indep legal sig) OR don’t have statement from which you are drawing implication (bruise)

ii. People v. Green (492 note case)

(a) Homicide prosecution where husband alleged to have killed wife, P puts wife’s friend on the stand who testifies that wife told her she was afraid of husband and that husband said he was going to kill her if she left

(1) Standing alone this is classic hearsay

(2) Might be confrontation problem b/c witness against D is declarant not friend

(3) Her state of mind not relevant

(b) P’s argument

(1) Husband’s defense is that she voluntarily accompanied to him to site where he accidentally murdered her

(2) P’s theory to get statements in is that b/c she was afraid of him she was not likely to voluntarily accompany him to remote site

· Now victim’s state of mind is relevant in proving victim’s behavior before the crime
· Are using victim’s state of mind (as conveyed through an assertive statement) as inferential launching pad to her behavior (non-assertive)
(c) Prejudice

(1) Judge will give jury charge that can’t use this statement to prove that D threatened wife, just to prove that wife may not have accompanied him voluntarily

(2) Can’t use this evidence for production

(3) Can’t use for persuasion on the ultimate fact of D killing her → but can’t really stop jury from using it for this → limiting charge not that effective

iii. Betts v. Betts (494 note case)

(a) Declarant is 5 yr old; Witness is foster mother; Proponent is dad who wants custody; Statement is that mom’s boyfriend killed her brother and that he will kill mommy too

(b) Dad’s theory for admissibility is that state of mind of child relevant in deciding if it is in her best interest to live with mother/boyfriend → valid analytically

(1) Statement not being offered for the truth, it is being offered to show that child is afraid of mom and her boyfriend

(c) Question is if this is too prejudicial to let in?

(1) Have to way prejudicial impact v. probative value
(2) This determination is going to be colored by the equities → is D a bad guy?

iv. Loetsch v. New York City Omnibus Corp. (494 note case)

(a) Wrongful death action by husband for wife’s death where measure of damages is econ loss to their families; D enters wife’s will that says husband is a jackass and only going to leave him $1

(b) Declarant is wife; Witness is will (needs to be verified just like videotape); Proponent is co responsible for wife’s death; Statement is that not going to give $ to wife; Purpose → state of mind

(1) Here are using state of mind to look forward into future and predict how wife would have behaved (how much money she would have given to husband)

· Note → in Green were using state of mind of dec to look backward and see how she would have acted

(2) Need to ask yourself if you are worried about output legs (veracity, ambiguity)
· Here doesn’t really matter b/c took time to formalize it in will and whether or no she was lying about husband doesn’t matter → only her state of mind matters

· Assertive statement being used to prove how dec would act in future and relevant bc it is directly related to amt of econ support would have given husband

b. Blurring the line btw assertive/non-assertive

i Sollars v. State (494 note case)

(a) Homicide case, D is claiming insanity and offers letters that he wrote while in a mental institution

(b) Declarant is D; Witness are the letters; Statement is nonsense about prez; Proponent is D; Purpose is to show state of mind (delusional)

(c) Problem with letting these in is you can’t cross output legs, don’t know if he wrote these letters b/c is truly delusional or if he is faking it (he knew letters going to be put in his file)

(d) This is problem with assertive/non-assertive line → you assume that the non-assertive statement is mean to be non-assertive but here if you can’t cross then you don’t know that for sure

(1) Line sometimes blurs

i. United States v. Reyes (494) (LL 74)

(a) P is trying to get hearsay testimony that co-conspirator told agent under state of mind exception that state of mind of agent is relevant

(b) Ct says agent’s state of mind NOT relevant 

(c) This is example of trying to push state of mind too far

c. Implied statements

i. Wright v. Doe D. Tatham (500) (LL 75)

(a) GB case where decide that non-assertive statements being used to prove state of mind are hearsay and therefore excluded

(b) Lords say that when non-assertive need cross b/c of

(1) Ambiguity → what exactly was the dec intending to say with non-assertive statement

(2) Veracity → were they lying when they made the statement (lie to people all the time just to make life easier)

(c) Fed rules of evidence says these statements can come in

ii. Headley v. Tilghman (505) (LL 76)

(a) Police arrest D for coke distribution and while he is at police station his beeper rings and officer picks it up and someone with a Jamaican accent asks “are you up, are you ready”

(b) At trial, officer testifies to what person on phone (who P says is co-conspirator so gets it in under that exception) says, 

(1) Dec = person on phone

(2) Witness = Cop 

(3) Statement = “are you up, are you ready”

(4) Purpose = To prove that D was about to give coke to dealers

(c) P uses police officer’s expert testimony to translate “are you up, are you ready” into a statement that someone asking if coke is ready for pickup

(d) Ct says non-assertive statement so it comes in

(1) Need to ask ourselves if this statement (which is so ambiguous that it has to be translated) okay to let in as implied assertion

(2) Line b/tw non-assertive and assertive keeps out more reliable probative statements (direct assertions) and lets in sometimes totally unreliable non-assertive statements → Formalism

iii. Regina v. Kearly (507 note case) (GB 1992)
(a) Breaking up drug den, phone rings 7 times w/people asking if the stuff ready, can I up and get it, House of Lords excludes under strict application of Wright rule

(b) Compare Kearly and Headley: Which of the two rules makes more sense?

(1) Wright rule (non-assertive statements still hearsay) seems to be deflecting error in favor of D, BUT at the same time prohibiting credible, probative evidence

(2) Headley rule seems more about deflecting error in favor of P → admits some thin evidence as in Headley but then gets in all the probative stuff that Kearly doesn’t allow

iv. Silence → Silver v. New York Cent. RR Co (510 note case)
(a) Pullman car got stuck in Cincinnati on cold night, P brings suit, put conductor on stand and ask him if anyone complained about it being really cold, he says no, so from the lack of 
complaints (the silence) infer that it wasn’t as cold as P is saying or she is particularly susceptible to cold
(b) If in Wright juris → silence treated like hearsay and excluded

(c) If in Headley juris (most US are going this way) → silence treated as non-assertive statement and comes in

(1) Could get in silence

(2) Could not et in sworn affidavits

(3) BN thinks it’s a mistake to let in silence b/c HUGE ambiguity problems

v. Witness is testifying to observation made by machine or bloodhound

(a) Dog sniffs something at murder site then they find the D 3-4 miles away

(b) Declarant is the dog

(1) Have to validate his testimony in some other way that makes cross unnecessary → his being right on other occasions 

vi. Kinder v. Commonwealth
(a) D’s are charged with stolen property, cops recover property by taking 5 yr old boy who was in car wit D’s and asking him to point to where prop is buried

(b) P offers as non-assertive statement of state of mind of D’s

(1) Demonstrating state of mind of kid = implied statement that D’s buried here

(c) Need to create better inferential chain

(1) Use non-assertive statement (of where buried prop) as launching pad to go elsewhere

(2) If I know this (that prop is buried here) → then that (my uncles had to bury it here bc I was with them) has to be true

(3) More like Green → state of mind of dec is relevant b/c of something D’s did → ??

vii. Muscato →??
B. Prior Statements of Witnesses

1. Intro

a. With prior statements the declarant and the witness are the same person (other than that looks like classic hearsay) but we let in sometimes b/c declarant can be crossed

b. Two competing nightmares that we are trying to prevent

i. Prosecution nightmare: Witness is frightened out of testifying

(a) If NEVER let in prior statements then create incentive for D’s to intimidate witnesses testifying against them

ii. Defense nightmare: Cop who makes up confession

(a) If let in all prior statements for the truth than would be creating incentive for police to fabricate confessions for people they are sure are guilty

c. 3 contexts where might want to treat rule on allowing prior testimony differently

i. Civil
ii. Criminal

iii. Admin proceedings

d. Levels of formality under which prior statements are made (least to most formal)

i. Casual statements: Made to friends in private informal convos → 2 kinds

(a) Written

(b) Unwritten

ii. Informal statements to authorities: Convo with authorities in which you aren’t target but are a witness telling the story to police (or other investigatory authority)

(a) Written

(b) Unwritten

iii. Sworn statements in a private context

iv. Sworn statements to authorities → i.e sworn deposition

v. Formal conditions: Summoned and asked questions under oath

(a) Grand jury

(b) Fact-finding investigation

vi. Subject to cross but cross doesn’t happen

(a) Ordinary deposition

(1) Want to save cross for trial b/c if cross during depo are explaining what your theory is going to be at trial

(b) Preliminary hearing

(1) Again, don’t want to tip prosecution off as to why you think this testimony is bad

(2) Rare that you can destroy a witness enough to get a SJ

vii. Where cross actually happens

(a) This is more prior reported testimony and is very rare

e. Need to decide what levels of formality are going to be required in different context (civ, crim, admin)
2. Prior inconsistent statements

a. Impeachment

i. Common law rule that couldn’t impeach your own witness

(a) Flows from defense nightmare → that would call a witness only to sandbag him and get in perjured testimony of what he said earlier

(b) This rule is gone in almost every juris BUT juris vary in level of formality they require in order to get prior statement in

(c) If are still in juris that has old common law rule than very rarely can you use prior statements

ii. Rowe v. Farmers Insurance Co. (522)
(a) Facts: P is trying to collect ins on his car, but co doesn’t want to pay b/c they think he torched his own car; P’s cousin told police that P said he was going to get somebody to burn his car so he could get a new truck
(b) Multiple-hearsay problem: P (dec) → cousin → cop (witness)

(1) Need an exception for each level

(2) Statement from P → cousin comes in as party admission

(3) Statement from cousin → cop

· In ct cousin says P didn’t say it

(c) Can use prior statement in order to impeach witness

(1) You don’t care about reverse engineering, don’t really care about the truth of the statement, just want to show that witness is totally unreliable

b. Truth

i. What happens when need prior statement in order to satisfy production burden

(a) Hearsay problem: Unlike typical hearsay problem have declarant on the stand and can cross them
(b) Confrontation problem

(c) Most juris now allow prior statements to come in for truth depending on level of formality

(1) Cali has Green rule: As long as witness available for cross can get prior inconsistent statement in

· This is norm in most juris for civil cases

(2) Fed cts: Require statement to be under oath and formal conditions before it can be used in crim proceedings (basically only grand jury testimony gets in)

ii. California v. Green (530)

(a) Kid arrested, when he first talks to cop says Green is his supplier, during prelim hearing says Green tells him where to get drugs, then at trial says can’t remember, so they shredded his credibility, problem being without prior statement don’t have enough evid to satisfy production burden

(b) P argues that jury should be able to determine which of 3 statements they want to give credence to and instruct them they can find Green guilty if they believe the first two statements

(c) Green’s argument: No meaningful cross here b/c are crossing statements that he made

(d) Ct says delayed cross OK for confrontation clause AND hearsay → so prior inconsistent statements get in
(1) One-bite rule: One bite at cross is all the confrontation clause guarantees, so just have to point in chain of case where D’s lawyer had the opportunity to cross (doesn’t matter if he used it??)

iii. If witness is dead or asserts 5A privilege (which if he has taken a deal he can’t assert) → CANNOT use prior inconsistent 

iv. Lapsed memory witness

(a) Theoretically lapsed memory witness is inconsistent with prior testimony for purposes of hearsay b/c there is no inconsistent testimony for D to cross

(1) BUT we are loathe to treat lapsed memory witness like dead witness b/c of prosecution nightmare

(b) United States v. Owens (554)

(1) Facts: Prison guard beat and lost his memory, so can’t remember attacker, during one interview with FBI identifies D from a picture but at trial says he can remember picking out the photo but cannot remember if D was the one who hit him

· Witness/declarant = prison guard

· Statement = D did it (this is the picture of the person who hit me)

· Purpose = Truth → that D did it

· Current testimony = I remember making this statement but I don’t remember if it is true

· So D can cross about whether statement was made BUT not about whether statement was true

(2) Is this prior consistent or inconsistent testimony?

· If you are in fed ct → have to argue that it is prior consistent b/c prior statement will rarely satisfy formality rules (grand jury)

(3) What is the statement consistent with?

· Truth; OR

· Previous statement

(4) Does this satisfy Confrontation clause?

· Is lapsed memory witness available for cross?

(5) Rule: prior consistent testimony of lapsed memory witness is OK for hearsay and confrontation

· Witness is on stand and can be crossed, so D can create doubt and jury can judge his credibility (why we don’t allow dead/5A → jury can’t judge credibility)

· Contrary argument: This rule allows someone to be jailed pursuant to a statement made out of viewing of the jury under potentially suggestive circumstances where D lawyer wasn’t present and couldn’t carry out cross
v. What if witness just refuses to testify?

2. Prior consistent testimony

a. Common law

i. No prior consistent statement in UNLESS are in one of 2 exceptions

(a) If witness takes deal (or some other reason arises that D can say creates bias to lie) then if witness made statement before he took deal or bias arose (T-) than that statement can be used at trial to rebut inference that statements being made up

(b) Out-of-court identification

(1) Because of highly suggestive circumstances of in-ct ID if D tries to argue that P can come back with prior identification of D

ii. Reason for this is if we relaxed rules on prior consistent statements than will shift emphasis of US trial to what is going on front of jury to what occurred earlier b/c everybody will stage prior consistent (and extremely rehearsed) testimony → Policy judgment that jury trials are super imp

b. Tome v. United States (540)

i. Facts: Father on trial for sexually abusing his daughter, on the stand the girl is basically uncommunicative, but she had told babysitter about the abuse

ii. Prosecutor has 2 choices → to characterize as prior consistent or prior inconsistent

(a) If in Cali → inconsistent might be better

(b) If in Fed ct → have to characterize as prior consistent if any shot

(c) In reality → this statement is neither consistent or inconsistent with her in ct testimony

(1) BN would argue that in-ct testimony was that she was terrified

iii. Ct says b/c of risk of rehearsed testimony/deemphasizing jury going to enforce strict adherence to common law rule (at least in Fed ct)

3. Think about why are we more willing to use prior inconsistent than prior consistent ??

i. What if are lying the whole time → so giving extra weight to lying statement

ii. If can use prior inconsistent more likely to get the truth b/c hard to tell like exactly the same each time you tell it
C. Prior Reported Testimony

1. Intro

a. Reported testimony = transcripts of testimony given by a witness at some former deposition, hearing, or trial in the same or another case

b. Such reports are hearsay but are admissible under an exception to the hearsay rule

i. Have to be sufficient identity of issues

ii. Unavailability of witness

iii. Has to have been cross 

(a) Satisfies confrontation clause

(b) Sufficient guarantee of trustworthiness of testimony

c. From tactical standpoint may be better as characterizing prior testimony as prior reported rather than prior inconsistent (what the prosecutor in Green should have done)

2. Identity issues

a. “Target party:” Gaines v. Thomas (723) (LL 106)

i. Facts: Car driven by Martin collides with truck driven by Byars (owned by Pearless), Martin is standing on the side of the road and is hurt
(a) Case I: Martin v. Pearless

(1) Issue is which driver was negligent

(2) Pearless calls Byars who testifies that it was Martin who was negligent (remember that Martin is dead so no one to conflict with this testimony)
(3) Jury finds for D

(b) Case II: Gaines v. Martin

(1) Byard dies before this trial (could take the 5th, lapsed memory → he is unavailable)

(2) Gaines uses Byars’ testimony to satisfy production burden (has to otherwise suffer DV)

(3) Could have used affirmative collateral estoppel here as well

(4) This case differs from common law (Gaines) b/c have identity of issues, but NOT identity of parties

iii. Ct holds that as long as target party (party against whom testimony is being used (Martin) had adequate opportunity for cross in earlier proceeding, if they did then testimony is admissible

iv. What if this had been crim case?

(a) Case I: Martin v. Pearless
(b) Case II: crim case State v. Martin for vehicular manslaughter
(1) Question is not confrontation clause → got 1 bite

(2) Question is whether motive for cross is the same if you are a P in civil case as when you are a D in a crim case

· Most juris allow use from civil to civil but not from civil to crim b/c motive is so different (coming out even vs. going to jail)
v. What if jury had found for Martin in the first case, can you use Byars’ testimony in the 2nd case?

(a) Not without telling jury in 2nd case that jury in first case didn’t believe him → classic hearsay

(b) Not sure if jury didn’t find for Martin because they didn’t believe Byars or because of other evidence

b. Who constitutes a target party: Lloyd v. American Export Lines (725) (LL 107)
i. Facts: Horrible fight btw 2 crew members (both claim other was at fault) on boat owned by American

(a) Case I: Coast Guard v. Lloyd

(1) Coast Guard trying to figure out whether to suspend Lloyd’s license bc he keeps getting in fights

(2) Lloyd testifies

(b) Case II: Alvarez v. American Export

(1) Lloyd can’t be found → unavailable

ii. Target party is Alvarez but person doing cross in Coast Guard (no cnx btw the two)

(a) Fed rule saying that okay to admit testimony if cross is by predecessor in interest

(b) Ct says that predecessor in interest doesn’t have to have the same legal interest

(1) Need to ask how far you are going to expand the predecessor in interest concept

(2) Could never use predecessor in interest cross to get testimony in during crim trial
3. Constitutional issues: Ohio v. Roberts (737) (LL 108)

a. Facts: Guy be prosecuted for charging stuff to his girlfriends parent’s credit cards

i. At prelim hearing girlfriend testifies and says that she didn’t give him permission

ii. By the time of trial girlfriend had disappeared → UNAVAILABLE

b. SC says that confrontation clause satisfied if witness unavailable and prior reported testimony satisfies “indicia of reliability”

4. Choosing between prior inconsistent and prior reported

a. Prior inconsistent and prior reported are totally different hearsay exceptions even though one statement could be both

i. If have unavailable witness → have to go with prior reported, to get in prior inconsistent witness has to be on the stand

(a) If have lapsed memory → SC said are available

ii. Green → lapsed memory

iii. Ohio → unavailable witness

iv. Which way to characterize depends on witness, is ct going to characterize as available or not, could argue that it is both prior reported (if find witness to be unavailable) and prior inconsistent (if find witness to be available) → DON’T BE AFRAID TO GO FOR BOTH

iv. Delayed v. substitute cross

(a) Delayed cross (prior inconsistent): Jury going to see cross of statement, but it is going to be delayed

(b) Substitute cross (prior consistent): Jury doesn’t see cross, is read cross
(1) Huge problem b/c reading transcripts is very boring → very difficult for jury to judge credibility of testimony w/out seeing parties actually giving it

(2) Ask judge for creative ways to get in cross → actors, etc.

b. Ex: Green statement of “Green is my supplier

i. Kid confirms his prior testimony 

(a) Prior inconsistent (Tome)

(1) Being used to rebut inference of motive to lie and statement predates when motive to lie arose

(2) Using to buttress in court ID

(b) Prior reported

(1) Can’t use prior reported b/c kid there so have to go with prior inconsistent and can’t use unless

ii. Kid recants testimony

(a) Prior inconsistent

(1) Can always use for impeachment

(2) For truth → Need to know at what level of formality statement was made and depending on that and juris to get in

(b) Prior reported

(1) Usually can’t use this b/c kid is there and therefore not unavailable (doesn’t meet requirements for getting in prior reported)

iii. Kid says he can’t remember (lapsed memory)

(a) Prior inconsistent

(1) Admissibility depends on level of formality

(b) Prior reported

(1) Built in formality requirement (cross)

(2) SC has says that lapsed memory witness available for purposes of confrontation

(3) Not said anything about availability for hearsay → ??

iv. Taking the 5th/absence/death
(a) Prior inconsistent

(1) Witness unavailable → can’t use

(b) Prior reported

(1) Can use testimony IF it was subject to cross

c. Roberts “He didn’t have my permission to use cards” testimony

i. If she had gotten on stand and confirmed prelim testimony

(a) Prior consistent → Tome rule

(b) Prior reported → she is available can’t get in under this exception

ii. If she recants

(a) Prior inconsistent 

(1) This would be all that prosecution has to satisfy production burden

(2) Can use prior statement to impeach witness
(3) If trying to get in for truth → depends on juris and what level of formality they require

(b) Prior reported → she is available → can’t use

ii. If she has lapsed memory → same as Green can play either way

iii. If take 5th, are absent, dead → have to try and use prior reported and hope that prior testimony satisfies formality requirement (having adequate cross)

5. Similar motive test: United States v. DiNapoli ( 747) (LL 108)
a. Covers both the situation where P is first case and D in second case and civil D in 1st case and crim D in case 2

b. Facts: Mafia investigation of price fixing ring in construction, D’s get on stand at grand jury and testify they had never heard of price fixing ring (to P’s surprise even though have wiretap evid of them talking about the ring)

i. At trial D witness calls 2 witnesses get on stand (D wants them to testify what they did in grand jury → that they never heard of the ring) but they take the fifth, so D tries to get grand jury testimony in under prior reported
ii. Question is whether the prosecution had a similar motive to cross at grand jury as they did at trial to qualify as sufficient cross to get in under prior reported testimony exception

c. Prosecution argument (what 2nd circuit buys in this case)

i. 2nd Circuit says that have to do case by case analysis of prior testimony to see if there was adequate cross (whether party had similar motive to cross in prior testimony as it does in trial)

(a) If DiNapoli say no similar motive b/c grand jury had already given them indictment, so didn’t really need 2 witnesses statements (ignores fact that did in fact cross vigorously)
ii. Prosecution argues that cross never really a part of grand jury testimony

d. D’s argument (what DCC and others buy) → I think what BN thinks

i. Prosecution always has sufficient motivation to cross exculpatory statement in grand jury

e. Take-home point: Testimony coming out of grand jury can be characterized as prior reported (at least in 2nd circuit) if exculpatory (bc prosecution can cross) BUT never if inculpatory (bc D lawyer can’t be in grand jury)

i. If inculpatory characterize as prior inconsistent testimony if they recant (grand jury is okay enough level of formality for fed cts) b/c of prosecution nightmare that someone got to witness

f. Is this case consistent with Ohio v. Roberts

i. Argument is that D lawyer always has motive to cross sufficiently (even though this is not true b/c there is really no point to crossing witness at prelim b/c prelim all about prosecution’s witness)

ii. When is there sufficient motive to cross a prior inconsistent statement?
D. Admissions

1. Intro
a. General rules
i. Something a party admits is not hearsay

(a) Admission has to be contrary to party’s trial position

(1) To test for admissibility: admissions have to be from formally named party contrary to party’s trial position on the day of their trial

(b) Have to be offering admission to hurt part → can’t have self-serving admission

b. Implied and adoptive admissions
i. Conduct: A party’s nonassertive conduct may be the basis for an admission

(a) Some conduct cannot be used as matter of PP (i.e. compromises in civil cases, pleading guilty in crim cases, remedial measures taken after accidents)

ii. Adoptive admissions: A party who knowingly and voluntarily adopts or ratifies another’s statement that is inconsistent with the party’s trial position is treated as  having adopted the admission

iii. Silence: A party’s silence or evasion may be treated as a manifestation of adoption or belief in the truth or another’s statement → admission has to be made in presence of party trying to adopt it against (3 requirements)

(a) Comprehension: Party must have been present and capable of hearing and understanding the statements or accusation

(b) Capable of denying: The party must have been physically and mentally capable of denying the statement

(c) Motive: The party must have had an opportunity and a motive to deny, such that a RP would have denied the statement

iii. Crim cases: 5A prevents prosecution from using D’s refuses to answer questions as an admission of guilt

c. Theory of admissibility (weakest admissibility theory of all the hearsay exceptions)
i. Desire to find exception that will allow you to use crim confession:  W/out this exception a confession would be classic hearsay

ii. Historical theory of litigation like a game → you drop the ball and admit something than you are stuck with it

iii. Self-cross rationale: Party is in position to do self-cross and explain admission → 2 problems with this rationale

(a) Crim context → self-cross not possible w/out putting a lot of pressure on the 5A

(1) Most academics reject self-cross rationale for crim context but BN thinks there is some truth to it, D can always take the stand and society shouldn’t lose just b/c judgment call that D makes

b. Vicarious admission

(1) More serious problem bc if you are responsible for admission you didn’t make, can’t do self-cross

(2) Max pressure on theory is when is corporation that is vicariously liable for the admissions of its employees → co can’t do self-cross

2. Cases

a. Bill v. Farm Bureau Life Ins Co. (LL 84) (563): Classic admission, son killed himself, when med ex asked him if he thought it was suicide, he nodded yes

i. Wife brought suit too → husband’s admission was adoptive admission against her
ii. Assertive conduct and adoptive admissions

b. Constitutional implications: Bruton v. United States (SC 1969) (note case 568)

i. Facts: D1 and D2 both busted and charged with bank robbery, D1 confesses but says D2 was mastermind, D2 confesses but says D1 was mastermind

(a) D1 confession of his own guilt = admission, what about confession about D2 → classic hearsay

(1)  Out-of-ct statement that is being offered for the truth

· D1 is declarant

· Writing is witness → can’t compel D1 to take stand b/c of 5A so it violates confrontation clause = Constitutional issue
· Purpose = to prove that D1 did it

(2) D2 lawyer going to argue that admission only admissible against party that made it → this is right as matter of admissions

· If confession is all gov’t has → going to suffer DV

(b) P needs to figure out another theory to get it in 

(1) Charge both with conspiracy to commit sub crime

· If label co-conspirators than D1’s statement not a part admission but a co-conspirator admission and is admissible against all conspirators under agency theory (Bourjaily)

(2) Say it is a declaration against penal interest

· At fed level not going to allow b/c when implicate someone else are currying favor with authorities → guarantees of trustworthiness not there

· States more willing to allow

(3) Try to think of all the possible ways could get a statement in before decide on one

ii. Bruton stands for prop that where have Constitutional implications (not just evidentiary or hearsay probs) that have the right to do a Bruton separation
(a) Separate trials of 2 D’s, try D1 first then can compel his to testify at D2’s trial b/c no longer has 5A right so no longer a Const issue

(b) Problems with Bruton severance

(1) Worry about recantation of D1

· Redact confession

(2) Expensive (2 trials instead of 1)

· P’s try to go with theory of reciprocal interlocking confession (if both D’s implicated each other then no need for severance but SC rejected)

(c) Remember: Don’t have to do Bruton severance if charge D’s as co-conspirators

c. Vicarious admissions
i. Mahlandt v. Wild Canid (582) (LL 87) Facts: Civil case where Dad brings home wolf, it bites neighbor child, son tells dad about it, dad tells boss, co puts it in co minutes
(a) Statement 1: Son says to mother of child that wolf bit and almost killed child

(1) Classic hearsay

· Mother = witness/proponent

· Dec = Son

· Statement = Wolf bit kid

· Purpose = Truth

(2) Admission?

· Stretch to get family members in under admissions → same motivation as D in making admission? But still would want to cross

(3) State of evid law creates strategic dynamic to make son a co-D then get his statement in as a vicarious admission

· Make decision on who to sue not on who you think is guilty or responsible but who’s statements you want in

(b) Statement 2: Dad tells boss in written note that wolf bit a kid; Statement 3: Dad orally tells boss that wolf bit kid
(1) Admissions against Dad
(2) Ct says that is counts as admission against boss and corp → says that doesn’t require personal knowledge for vicarious admission

· There is no theoretical underpinning for this decision

· Irony is that statements made by employee with no personal knowledge are admissible but corporate minutes aren’t

(c) Statement 4: Corporate minutes that way wolf bit the kid → why doesn’t this come in??

ii. To what extent are statements of employees vicariously admitted as admission of a corporate D?
(a) Most cts say that person has to be employee on day the statement was made, not day it offered → otherwise just fire employee before trial

(b) Theory to get this in?

(1) Self-cross doesn’t work b/c can’t cross a corporation

(2) Thing is we need this evidence to every convict corps

(c) 2 tests to see if employee admission can be held against corp

(1) If the employee is authorized to speak for corp

· Protective of D corps

· Flows out of skepticism in holding corp responsible for statement of employee who has no personal knowledge and when cross is impossible b/c corp D

(2) Scope of employment test

· Plaintiff protective

· Employee can make binding admission if w/in scope of employee’s employment

· No personal knowledge and no cross necessary → Dad’s statement in Wild Canid in

iii. Vicarious admissions in criminal context

(a) Requirements to use co-conspirator confession → statement has to be made

(1) In furtherance of conspiracy (some juris allow to be made in concealment phase of conspiracy)

· In furtherance phase of conspiracy

· Conspiracy phase

· Concealment phase

· Post-conspiracy phase

· Encarceration

(2) Has to be indep evid of conspiracy

· Can’t prove conspiracy with same evid that are trying to get in → Bourjaily gets rid of this

(b) These requirements are a protection to D

(1) Bourjaily has eroded indep evid

(2) Some juris allow other than in furtherance phase of conspiracy

d. United States v. Bourjaily (590) (LL 88)
i. Facts: Drug prosecution where informant is setting someone up for the gov’t

(a) Informant says Lonardo approached him to work out substantial purchase of drugs

(1) Lonardo = declarant

(2) Witness = tape-recording of convo b/tw Lonardo and informant

(3) Statement = friend will come to parking lot, Lonardo will inspect and give $ and take goods to his “friend” (Bourjaily)

(b) D argues that he is being set up by Lonardo

(c) P argues that this is classic drug conspiracy → statements made in furtherance of conspiracy so come in under co-conspirator exception

(1) If had been made in concealment phase not admissible

(d) Why this went to SC → there is no indep evidence of conspiracy → trying to bootstrap statement in on its own merits

ii. Bourjaily stands for prop that if judge thinks there is enough evid to think that conspiracy exists then OK to go to jury → don’t need indep evid of conspiracy in front of jury
iii. Confrontation problems

(a) No-bite for cross → Does one bite rule have any meaning left

(b) When create exceptions to hearsay are doing so b/c of some internal guarantee of trustworthiness that the statement has → there is something about the flow of data from reality to the declarant’s mind that statement is sufficiently trustworthy that don’t have to test 4 legs (divide into 2 even though there are overlapping good to think conceptually this way)

(1) Input exceptions → Input leg so strong that out of ct statement might be better than in ct recollection (excited utterances), so don’t need witness to be unavailable

(2) Output exceptions → Dec has to be unavailable b/c output leg correlated with unavailability

· Paradigm of output leg exception is the dying declaration, which is based on the assumption that person who is about to die not going to lie about who killed them

· 1895 SC case which said that dying declarations okay constitutionally  → this case became the baseline for the relationship b/tw hearsay and confrontation → the reason they said was okay b/c exception was long established and based upon powerful set of assumptions about the credibility of the statement → no-bite OK in those cases?

· Question whether psych underpinnings of dying declaration have any weight today → victim bad state, psych notion based on notion of religious sensibility (people could identify someone to settle a score)

· If question whether dying declaration OK, how can Bourjaily be OK with confrontation clause?
E. Declarations Against Interest

1. Model

a. Theory underlying this exception is that it is in human nature to say something harmful to your interest only if it is true →  fundamental psych assumption that strong output leg of dec against interest

i. If are making statement than not going to lie about it or be imprecise (veracity, ambiguity)

ii. Question of whether this assumption is valid anymore

(a) Verbal convention to just take blame for something → say sorry when someone steps on your fault

(b) People are always confessing to things they didn’t do

b. Dec against interest v. admissions

i. Admissions 

(a) Can only be used against the party

(b) Can only be used against party’s trial position

(c) Test (cross) admission at point at which it is offered into evidence, not at point that the statement was made → dropped ball doesn’t matter if true or not

ii. Dec against interest

(a) Admissible against the world

(b) Test admission at the point it was made b/c want it to fit into the model at the point at which it was uttered in order to fit into guarantees of credibility of theory

c. What is meant by “interest”

i. Common law

(a) Interest only meant pecuniary interest → industrial rev, simplify evid

ii. If interest includes penal interest have merged admissions and dec against interest in crim cases

(b) Prosecution nightmare: Are setting up for phone confessions → People v. Brown
(1) Dec against interest admissible against the world, so if guy in jail confesses to crime that buddy in on trial for can be used in trial, where if it was admission could only be used against him
(2) Worried about exculpatory use

(c) Defense nightmare: Destroy Burton

(1) Statement of D1 can be used against D2 as dec against interest

iii. Modern law includes dec against penal interest → now question of how far you want to push it, do you count as an interest a statement against your reputation, social interest, etc?
2. Declaration Against Non-Penal Interest
a. Cole v. Cole (605)
i. Facts: Intestacy case involving fight btw 2nd wife and kids of first wife over house that H lived in at his death held in tenancy in common with W2, W2 argues that she paid for house, so H was holding it as tenant in common in resulting trust for her

(a) Wife offers testimony that H said that he couldn’t afford to pay for house

(1) Proponent = wife

(2) Declarant = H

(3) Witness = Wife

(4) Statement = I can’t put $ into house

(5) Purpose = truth

ii. Does this fit into any other exception

(a) Admission → NO b/c H not a party

(b) Prior inconsistent testimony → NO b/c no record of H saying this to anyone but W2

(c) Verbal impact → Care about accuracy not whether it was made or not

(d) Dec of indep legal sig → Statement doesn’t create legal sig in itself

(e) State of mind → Do we care about state of mind of dec? No, care about truth

iii. Declaration against interest

(a) Declaration against his legal interest in ½ of the house (has legal interest as tenant in common but seems to be renouncing it) → fits model

(b) Declaration in favor of not having wife angry at him → questions model

(c) Are having to assess the psychology of declarant retrospectively → never going to be able to test 4 legs → doesn’t seem like model stands up here

b. Barrera v. Gonzalez (note 696): Deed from A to B, A dies, A’s successor in interest says deed was a mtg not a deed; A’s suicide note says that A owes B lots of $, can A introduce that (would want to introduce as evid that was mtg, declaration against interest to say owe lots of $)
i. Ct says interests are self-serving (i.e. NOT a declaration against his interest)

ii. In his interest to say that he owes money and therefore that deed was a mtg not gift/sale

iii. Question of whether or not court is testing interest at wrong point

(a) Should be testing interest at the point it was made → was it against his interest at that point to say mtg → maybe so b/c then would still owe $

(b) If test when statement used → then it is self-serving

c. Carpenter v. Davis (608)

i. Facts: Car accident involving truck and car driven by bro with sis (Carpenter) as passenger, after accident truck driver walks over to car and bro dead and sister dying; sis’s husband bring tort suit

(a) Truck driver testimony: he says “I’m sorry, but you pulled out in front of me;” sister says “I know, it’s not your fault”

(1) Proponent = truck driver

(2) Declarant = Mrs. Carpenter

(3) Witness = truck driver

(4) Statement = We pulled out in front of you → not truck driver’s fault

(5) Purpose = Truth

(b) Husband’s atty cries hearsay

(c) Ct says that is dec against pecuniary interest of Mrs. Carpenter so lets in → dec against pecuniary interest b/c extinguishes tort claim → was she thinking about tort claim when she was dying? → Never know unless cross

ii. Different ways to treat this statement
(a) Privity admission: Wife made admission and going to hold it against parties in privity with her (or anyone close to her → i.e. family → Canal case), this is basically expanding admissions rule

(b) Treat as common law dec against (pecuniary) interest

(1) Have to apply 2 requirements of common law

· Declarant is unavailable

· Declarant has personal knowledge (if admission no personal knowledge required)

(2) Divide statement in ½

· I know → we pulled out in front of you → fact that dec has personal knowledge of → so okay to come in under dec against interest

· Not your fault → conclusion that dec doesn’t have personal knowledge of so doesn’t come in under dec against interest

(3) Treat as dec against pecuniary interest and let entire statement in

(4) Treat as dec against pecuniary interest and let NOTHING come in

(1) This is a setting where psych model doesn’t work so none of it should come in

(2) Problem with not letting this evidence is is that if she were a party it would come in, so just b/c change parties make evidence disappear → problem with this argument is that if she were a party she could be crossed about her statement

iii. Take-away: Once you start moving away from strict pecuniary interest and start talking about interest in causes of action begin to have to psychoanalyze declarant → which is always going to be dubious

d. Gichner v. Antonio Troiano Tile & Marble Co (note, 615)

i. Facts: Warehouse burns down, employee of lessee tells fire marshall that they were in there drinking and smoking but that they didn’t start the fire and building wasn’t on fire when they left

(a) Proponent = Lessor 

(b) Dec = Employee (absent at time of trial)

(c) Witness = fire marshall

(d) Statement = we were smoking in there

(e) Truth

ii. Is this vicarious admission → scope of employment question → probably doesn’t fit in there

iii. Dec against interest

(a) Ct lets statement in as declaration against employment interest

(b) Is this accurate application of model, especially where employer is going to be vicariously liable? So not only are foundations of model shaky but are holding declaration against interest of someone who didn’t even make the statement
3. Declaration Against Penal Interest

a. People v. Brown (614)

i. Facts: Homicide prosecution, testimony of incarcerated prisoner being used to exculpate D, but he takes the 5th on the stand

ii. All exculpatory dec against penal interest come in under Brown

(a) Modern development is to say that exculpatory declaration admissible only when judge finds internal circumstances of trustworthiness

(b) So jailhouse confession not let in unless corroborating evidence, but under Bourjaily vicarious admissions of co-conspirators can come in on their own → basically if going to hae Bourjaily should be able to have Brown on the other side

b. Williamson v. United States (622)

i. Inculaptory dec against interest where witness refuses to testify

ii. How do you get in?

(a) Prior inconsistent testimony → depends on level of formality and juris

(b) Admission → have to charge as co-conspirators, but still not going to get his testimony if he would rather be in contempt than testify

(c) Dec against interest

(1) He can make a declaration against his interest, but not against someone else’s interest

(2) Looks like the court is concerned he is lying in order to get himself out of trouble → so model breaking down and they aren’t letting evid in

c. Crawford v. Washington (RE-READ​) → overrules rationale of Ohio v. Roberts, in essence affirms Bourjaily

i. Facts: Wife says victim tried to rape her, husband goes and gets in a fight with him and kills him, husband asserts self-defense that thought victim was going for gun, wife tells story that is fundamentally inconsistent with the existence of a gun, then at trial invokes marital privilege and P wants to play tape of the story she told to police 

(a) Is standard hearsay b/c of D’s inability to cross b/c she takes marital privilege

ii. 2-step analysis

(a) Evidentiary

(1) State of indep legal sig → NO

(2) Verbal impact statement → NO

(3) State of mind → Classic reverse engineering → maybe get in here?? 

(4) Prior reported → NO b/c doesn’t meet formality

(5) Prior inconsistent → NO b/c she is unavailable

(6) Vicarious admission → in Wash marital privilege like 5A → can’t use

(7) Dec against interest → against social interest of wife?

(8) Dec against penal interest (what P argues)

· Wife’s statements subject her to potential prosecution → large # of statements that potentially count
· Need to ask if are using dec against penal interest as way to get at truth or way to get in evid you want

(b) Confrontation clause

(1) Roberts says that testimony can come in w/out cross IF

· Firmly established hearsay rule; OR

· Indicia of reliability

(2) Wash ct says that dec against penal interest not firmly established but that there are sufficient indicia of reliability that statement comes in (judge making credibility call not jury)

iii. Scalia opinion

(a) Testimonial statements
(1) Confrontation clause ABSOLUTELY guarantees cross

(2) Doesn’t matter if firmly rooted hearsay or if indicia of reliability → for testimonial statements Ohio v. Roberts is gone

(3) What is a testimonial statement?

· Includes stories witnesses tell cops for sure

· Opinion suggest that any testimony to a gov’t official might be testimonial

· Any ex parte testimony

· Affidavits

· Custodial exams

· Prior testimony that D was unable to cross → have to get one-bite

· Statements that declarant would reasonably expect to be used prosecutorily

(b) Non-testimonial statements
(1) Isn’t sure that confrontation clause applies (BN thinks this is what ct going to say)

(2) Only have to jump through evidentiary hurdle (find and exception)

(3) Non-testimonial statements are

· Conversation of co-conspirators (so Bourjaily opinion not touched), things overheard on telephone → any statement made in furtherance of conspiracy

· Business records

· Dying dec may or may not be testimonial but we except anyways → dicta that there is 6A exception to dying declaration based on original understanding of 6A → is firmly rooted hearsay exception

(4) The impact of Crawford is going to be decided on where the line is drawn between testimonial and non-testimonial

· Going to be up to state legs to decide

· Narrative testimony v. operative testimony

· BN thinks is going to be assertive v. non-assertive (read over all the problems this line has caused in state of mind cases)

· Owens not touched → ct going to say lapsed memory witness is available

· Bourjaily not touched b/c non-testimonial

· Ohio v. Roberts, Green result not touched b/c there was prelim cross

· What about Tomes → is testimony of little girl non-testimonial? Maybe b/c can be considered non-assertive
· Need to frame statements as non-testimonial hearsay either say they are excited utterance or non-assertive statement of state of mind

· If aren’t intending to assert anything hard to call the statement testimonial → if state legs define as non-assertive, non-testimonial than might be OK under Scalia opinion

· This is going to be Trojan horse for P b/c going to get all sorts of statements in by characterizing them as non-testimonial
F.. Spontaneous, Contemporaneous and Excited Utterances

1. Intro to Res Gestae 

a. 4 types of exceptions

i. Excited utterance

ii. Present sense exception

iii. Declarations of present physical condition

iv. Declarations of mental state

b. All are allowed under theory that statement is so close to the reality it is purporting to represent that the statement and the reality really merge into a single lgal concept

i. For excited utterance and present sense exception

(a) Under triangle model input and output legs so close together that are really one line, so no need to worry about reverse engineering
2. Excited Utterances (“Oh my God Exception”)

a. Statement is reflexive (unconscious) 

i. Statement and reality are so fused together that there is no time to think or form a message

ii. No reason to question it

(a) Input leg

(1) Memory: No problem for memory because are making statement as you are watching event

· In fact think that statement is probably better than one that could get in ct 2 yrs later

(2) Perception: There is a perception problem, could be perceiving event one way when in actuality it is another way → but I guess we have made policy judgment that this is OK risk

(b) Output leg

(1) Ambiguity: Might be some ambiguity with the statement, but I am guessing they are usually clear enough to be able to understand fairly well what the declarant meant

(2) Veracity: No veracity problem b/c statement is contemporaneous with reality it is reflecting and it is elicited almost subconsciously so no real time to form intent to lie

iii. Questions 

(a) What kind of event qualifies as an exciting/shocking event to make the statement in response to that event an excited utterance?

(b) How far away in time can you get from event and statement regarding event can still be called an excited utterance?

(1) Fed rule: Actually proceeding or shortly after event

(2) States: All over the place

3. Present Sense Exceptions

a. Declarant is not excited, is calm and cool and is making a verbal statement about a contemporaneous event

i. Big difference here is that we can question the veracity leg more b/c it is a conscious statement → being aware of what you are seeing and saying gives you more of an opportunity to lie 

ii. Consciousness of statement also reflects perception → ??

b. Commonwealth v. Coleman (634)

i. Facts: Woman calls her mom and says boyfriend is going to kill her, he ends up killing her, P wants to use daughter’s statement to her mom

ii. Is classic hearsay, is statement admissible under one of our exceptions?

(a) Excited utterance → NO b/c if took time and had presence of mind to call mom than not an excited utterance

(b) Present sense impression (what ct says)

(1) She called mom right before he killed her, so reporting events to mom before they actually occurred → this seems like a bit of a stretch

· Question of how much want to stretch time limit (both forwards and backwards) for allowing a statement in

(2) Confrontation clause problems → depends on whether characterize this as testimonial

· If not testimonial than no confrontation problem under Crawford

· Prob is how is this not testimonial, is daughter telling mom what she thinks is going to happen, not actually what did happen, is that the line??

(c) Dying declaration → NO b/c she hadn’t been beaten yet, just thought she was going to die wasn’t actually dying

c. Houston Oxygen (note case??)

i. This case is the basis of the present sense exception and the statement was allowed in b/c it was 1942 in Texas and the proponent of the statement was white and the D was black

ii. Need to ask whether or not this is legitimate precedent → what extent should stare decisis be affected by moral circumstances surrounding the precedent → this seems to be another exception that the ct uses to get in hearsay testimony that they really want in, not really based on any internal guarantees of trustworthiness
G. Physical or Mental Condition of Declarant 

1. Declaration of Present Physical Condition

a. Moans and groans exceptions → is a description of your internal physical state
i. Trustworthy b/c is being made contemporaneously w/physical state you are experiencing (ONE EXCEPTION TO THIS RULE → Tomes)

b. Fidelity Service Ins. Co. v. Jones (647) (LL 95)

i. Facts: Ins proceeds at stake, ins will pay if death caused by illness but not if death an accident, guy is found with head in filled bathtub → question is did he pass out b/c of some illness or did he slip and fall 

(a) Before guy went upstairs to take a bath didn’t say anything about feeling bad → can silence be used as affirmation of good health → ct says YES
ii. Go back to state of mind and Silver (silence about cold case) → is silence a non-assertive statement??

(a) This seems to push model, he could have felt really shitty and just not said anything

(b) Can’t recognize physical symptoms unless someone describes them

c. United States v. Tomes (647)

i. Can get in PAST physical description → YES IF made to a doctor for the purposes of treatment

(a) Rationale is that if are describing past physical condition to doctor that is relevant to present treatment aren’t going to lie

(b) Questions that arise, if really believe model than why not expand it to teachers, social workers etc, if model right than limiting to just doctors makes no sense (Dissent’s arguments)

(1) Any time that are going back in time are going to have memory and ambiguity problems  → but if sufficient guarantees of trustworthiness to doctor, why not others

(2) People at margins (ambulance drivers, nurses, healthcare professionals) → this is all coming in

(3) BN thinks only matter of time before extend to teachers, social workers

ii. What if are narrating the situation that caused the past physical conditions (i.e. who abused you)

(a) This comes in IF narrative explanation is relative to treatment

(1) So if are kid saying dad abused you this is relative to your psych treatment and comes in

(2) This puts real pressure on model → do we think that there is something special about telling doctor WHO (not how) hurt you OR are we just using this as a way to get in evidence that is really probative 
(b) Constitutionality → Crawford: Is this testimonial?

(a) If narrative is testimonial than doesn’t come in b/c requires one-bite

(b) Decent argument I think that it is non-testimonial b/c it is non-assertive statement, esp if doc is goading it out of her → ??
2. Declaration of mental Condition

a. Real world distinction btw state of mind non-hearsay and declaration of mental condition

i. Declaration of mental condition 

(a) is hearsay → but we create an exception 

(b) Person is intentionally asserting their state of mind → automatic questioning of veracity leg

(c) In crim cases need to test confrontation clause

ii. State of mind non-hearsay

(a) Non-assertive statement that is being used to infer state of mind of declarant → remember that some juris that require statement to be assertive in order to be hearsay

(b) As long as non-assertive → no implications with Confrontation clause

b. United States v. DiMaria (654)
i. Facts: D charged with trafficking stolen cigs, he wants to introduce into evidence a statement he made to cops that he wasn’t trafficking, he just wanted to get cheap cigs, takes the 5th for testimony (probably to keep out past crim convictions)→  so D is attempting to testify w/out getting on stand b/c his statement negates his intent to traffic

ii. Ct state statement comes in

(a) Statement is legally relevant fact

(1) This would be persuasive argument if were non-assertive statement

(2) With assertive statement → P nightmare that D is lying to get himself off the hook

(b) Most juris allow assertive statements of mental condition if exculpatory/inculpatory in

(1) Hearsay problem → worry about 4 legs, esp veracity

(2) No confrontation problem b/c D is witness

c. Kinder (510): State of mind as inference to prove relevant facts
i. Case under definition of hearsay where police use testimony of 5 yr old to find stolen prop

ii. Kid is making description of his mental state → police use kid’s mental state as inference to prove that D’s stole property

iii. Hypo/Case (?): Girl testifies to room she was taken to by kidnapper and then prove indep that is what his room looks like → so use her state of mind (what the room looks like) as inference that this D was her kidnapper
iv. When break out of state of mind to prove relevant facts of some existing reality → explain to judge that state of mind is an intermediate step in the chain of reasoning that proves D’s built

d. State of mind as proof of future hypothetical acts
i. Hypothesizing about the future: Want to know what the state of mind of dec was in order to guess what would have happened in future based on that state of mind (there were circumstances that actually prevented it from happening, i.e. death) 
(a) Loestch (n. 659): Wrongful death action where H trying to prove high damages, but D wants to offer proof that W hated husband and wouldn’t give him $ thus bringing down amt of damages
(1) Are going forward from state of mind to prove reality  that can’t happen anymore but is still relevant

ii. Hypothesizing about past: Want to prove that declarant actually did something consistent with his intent

(a) Mutual Life Ins. Co v. Hillmon (659)

(1) Facts: W brings action to collect on ins policies for H, but ins co is convinced he is alive and is just trying to get $ and that body found wasn’t his, but was Walters

· Walters writes a letter to his sister saying he is going to Crooked Creek (where body found) with Hillmon

(2) Ct says that okay to use state of mind of declarant to prove what he actually did in the past

· This is outer limit of res gestae

· Okay to project from state of mind forward to predict behavior of 1st person

(b) United States v. Pheaster (662)

(1) Using declarant’s state of mind to prove behavior of 3rd person → ct says ok

(2) Line in Amer juris is btw Hillmon and Pheaster

(3) Need to ask about confrontation clause here → probably okay b/c non-testimonial

(c) Shepard v. United States (669)

(1) Facts: Wife tells servant that husband poisoned her, then she dies

(2) Are going backward from state of mind to prove reality that declarant had in her mind (husband poisoning her)

· This is classic hearsay → if you let this in there is no more hearsay

(3) Can Kinder exist with Shephard → YES if it is non-assertive statement (using kid’s state of mind of place where stolen goods buried to prove that D’s stole and buried it there), the moment you have an assertive statement (my husband poisoned me) can’t get in
(4) Shephard/Hillman → can use state of mind of declarant and go backward to prove behavior of the declarant BUT NOT a 3rd person

(5) Smith v. Slifer (n. 677): Auto accident, amt of liability of driver depends on whether or not passenger was paying for the ride

· Statements that decedent/declarant made to husband about paying for ride → so this is using state of mind to go backward (paying someone) BUT is 1st person → so okay??

e. State of mind exceptions summary

i. “I am Napoleon” exception (2 categories)
(a) Don’t care about state of  mind (whether or not he is crazy) in itself

(1) Non-assertive statement by declarant who is not trying to make assertion about his state of mind

(2) Are using statement to show that declarant really believes he is Napoleon

(b)Are trying to prove state of mind (that he is crazy) with non-assertive statement

ii. Kinder exception

(a) Non-assertive statement from which we are trying to infer something relevant

(b) Some relevant occurred that gave rise to the state of mind and what we really care about is relevant fact that gave rise to state of mind not the state of mind itself

(c) The fact that statement is non-assertive is why we feel comfortable using it → no output problems

iii. Assertive statement of state of mind

(a) This is where hearsay starts but we let in

(b) Loestch case → state of mind is relevant to prove what would have happened in future

iv. Hillmon exception

(a) Assertive statement that is used as inference to prove that declarant acted consistently with his state of mind  → forward looking from state of mind, so I had this state of mind and then I acted consistently with it

(b) Predictive inference → need to ask if this is reasonable or not, people have intent to do something all the time and never end up doing it → so the reason we think it trustworthy is a little suspect

v. Pheaster exception

(a) Assertive statement that is used to prove that 3rd person acted consistently with state of mind of dec

(1) Declarant said he was going to meet 3rd person, so 3rd person actually met him

(b) Confrontation clause issue → probably not under Crawford b/c this is non-testimonial testimony

vi. Assertive statement of state of mind of declarant being used to prove past behavior of declarant 

(1) Backward looking (from state of mind) 

(2) 1st person → this is what makes it okay, why?

vii. Shepard: Backward, 3rd person

(1) Assertive statement of state of mind of declarant being used to prove what 3rd person did before that state of mind

(2) If let this in then destroy hearsay exception

(3) One exception → will contests and undue influence

c. Real world

i. Distinction btw backward/forward distinction not so clear

ii. United States v. Annunziato (674)

(a) Facts: D was business agent for labor union and was charged with receiving payments from pres of construction co, by the time of trial construction co pres had died, but his son testified that dad told him that D had called requesting some $ and he intended to send him some
(b) So state of mind is of pres of construction co and are trying to use that to go backward in time to prove that he did give bribe to agent (agent accepting would be 3rd party behavior), but also could argue that are pres’ using state of mind to go forward to say that he acted according to that intent (so agent accepting in future) → ct said thrust of statements faced forward not backward so okay (if only faced backward, i.e. pres said no intent to give him $ than probably wouldn’t get in)

(c) This might pose confrontation problem → testimonial → what is testimonial??
H. Business Entries and Public Records

1. Model

a. Bus entry exception was rule of convenience that developed in GB after Industrial revolution

i. Routinezed bus transaction in which someone wrote down the details of a bus transaction or shortly thereafter

(a) No memory/perceptions problems

ii. But itself relied on bus record

(a) No ambiguity probs (according to model), is like business reflex

(b) Done before anyone thought of litigation → no veracity problem

b. 2 contexts

i. Commercial context

(a) Theory holds that can rely on notion that a bus keeps accurate records

(b) Problem is that don’t know if model holds today when people have a lot riding on some bus records (i.e. financial statements)

(c) Need to ask what exactly counts as a business exception → Jacoby, Hoffman, Lutz
ii. Government context

(a) Do we give same trust/deference when gov’t keeps records as opposed to business

(b) Beech Craft?

2. What is a routine business record?

a. United States v. Jacoby (680)

i. Facts: Crim prosecution on S&L, bank makes agreement with regulators and then gov’t charges that bank breaks agreement, associate for law firm bank is using makes memo of alleged fraudulent transaction and then claims 5th at trial, gov’t wants to admit memo

(a) D argues that have huge veracity problem and want to cross

(b) P says should let in under bus exception b/c

(1) This is something that lawyer did all the time → routine business record

ii. Shouldn’t let this memo come in b/c

(a) Bus records exception based on notion of business reflex → something in business happens, you just record it, don’t think about it

(b) The farther you get away from the record just being a recording device the more we are going to want to cross 4 legs b/c veracity could be issue and worry that statement is distorted by self-interest of recordkeeper → model starts to fail
iii. Cts do let in b/c is something he did all the time

(a) Cts have broad concept of bus record exception → is this good/bad?

(b) If didn’t let in then all the financial records of Enron, other corps would be called into question because recordkeepers have a huge stake in them, so veracity and motive to lie arise there too → huge amt of evid that would have to keep out

iv. What is Crawford’s effect on this case?

(a) This memo seems to be testimonial, telling story of what happened, trad bus records are definitely non-testimonial → but this case might be confrontation problem under Crawford b/c lawyer took 5th
b. Strother (n. 685)

i. Facts: Guy being prosecuted for check fraud, gov’t theory is that he called bank to ask them to pay check, he says that he just asked teller to put check on hold, if he just asked for hold then no crim violation, D offers 2 bus records of bank as proof of his theory → 2 writings where teller doesn’t say that he asked her to cash check

ii. Question of whether or not the tellers narrative statement to her boss about what happened and narrative statement to personnel department as part of accepting probation should be a bus record

(a) Why shouldn’t it be a bus record?

(1) Narrative statement → model breaks down, there is no guarantee for trustworthiness, in fact there are circumstances that makes us suspicious
(b) 2nd Cir. accepts as prior inconsistent statement

(1) Can’t be used for the truth but can be used for impeachment which in this case is all the D really cares about

3. Gov’t records

a. Palmer v. Hoffman (692)

i. Facts: Gov’t investigation of RR accident, send out RR investigator who makes written report with engineer’s exculpatory story

(a) If it was inculaptory story → classic dec against interest

ii. This case cited for the fact that investigative records are not as reliable as corp records

(a) This bright line distinction b/tw gov’t/corp records is disappearing and gov’t records being let in

(b) What is problem with letting this in?

(1) Record based on statement of 3rd party that had motive to lie → this doesn’t fit w/in model

iii. 2 questions that need to ask w/any bus record

(a) Was bus record kept accurately?

(1) Was there a bus/gov’t duty to keep accurate records

(b) Do the record reflect an accurate reality

(1) Routineness; AND

(2) Lack of motive to lie → then OK

· The minute that a motive to lie arises have to question veracity of record → model starts to break down and it becomes classic hearsay

b. Johnson v. Lutz (697)

i. Facts: Bus record at issue is a accident report prepared by cop based on testimony of witness to accident (who for whatever reason is unavailable)
ii. 2 step analysis of whether or not to let in this “bus” record

(a) Layer 1: Can we rely on business record as an accurate description (Is recordkeeper excused from testifying?)

(1) If business duty to keep accurate record → then will say that record is accurate description and not require record keeper to testify

(2) Statement of someone with bus duty probably a better sub than testimony b/c fresher in memory

(b) Layer 2: Assuming that this is an accurate description of reality can it be admitted for the truth

(1) Not unless there is a hearsay exception for the material that is in report

(2) Need something in material that makes us feel it is reliable

(3) If there is a plausible justification that this is a routine document then going to let in

iii. What if cop saw accident himself and made memo of it

(a) Perfectly okay to allow 1st person observations codified in bus record where recordkeeper has bus duty to report accurately to come in for the truth→ satisfies both layers 

(b) Present sense exception

(c) If colleague (another policeman) saw the accident and reported it to officer who made record → that is okay b/c still have bus duty to make accurate reporting

iv. What if cop hears accident then goes over and writes down what eye witness saw?

(a) 3rd person observation is being codified → need to find some other hearsay exception that lets it come in
v. What if cop pieces together report from physical evidence and makes an assessment of what probably happened = 1st person opinion based on facts

(a) If made guy come to ct and cross him like expert would feel better using, bus record model doesn’t really apply to bus record of opinion based on fact

(b) Beech Aircraft v. Rainey (701) → tendency of cts to allow these sort of bus records in

(1) Facts: Airplane crash and guy makes JAG report that says most likely caused by pilot error, D get it admitted

(2) BN thinks this case is what is wrong with evidence

· If guy had seen accident → OK to admit

· If guy had investigated hard facts of accident → OK

· BUT guy made his opinion based on some 3rd party statements → NOT ok

4. Post-Crawford Confrontation problems

a. Commonwealth v. DiGiacomo (714)

i. Does a lab report pose a confrontation problem?

ii. BN thinks that post-Crawford, bus records will be called non-testimonial and be exempt BUT some bus records are testimonial (i.e. policeman recording what he saw) → in some cases are going to have to bring recordkeeper in to testify in order to meet confrontation
I. Miscellaneous Exceptions

1. Fed Rules for Hearsay (Supp 468-480)

a. 801: Definitions 

(a) Definitions of declarant, hearsay, statement

(b) Statement not hearsay if

(1) Declarant testifies at trial or hearing AND is subject to cross AND statement is

(A) Inconsistent with declarant’s previous testimony → being used for impeachment

· Have to be under oath in both civ/crim to use prior inconsistent for impeachment

(B) Consistent testimony that is being used to rebut charge of fabrication

(C) Consistent testimony of previous ID of D

(2) Statement is offered against  a party and is

(A) Party’s own statement → admission

(B) Adoptive admission

(C) A statement by an indiv authorized by the party to make a statement → vicarious?
(D) A statement by the party’s agent or servant concerning a matter within the scope of the agency or employment → vicarious liability for employers

(E) Statement by co-conspirator

b. 802: Hearsay not admissible
c. 803: Hearsay exceptions: Availability of declarant immaterial – The following are not excluded by the hearsay rule, even if the declarant is available as a witness

(1) Present sense impression

(2) Excited Utterance

(3) Then existing mental, emotional, physical condition

(4) Statements for purposes of medical diagnosis or treatment

(5) Recorded recollection

(6) Record of regularly conducted bus activity: A record of acts, events, conditions, opinions, or diagnoses, made at or near the time by, or from information transmitted by, a person having knowledge (3rd person, ok?) if kept in the course of a regularly conducted business activity

(7) Absence of entry in records kept in accordance with paragraph (6) → can prove nonoccurrence with lack of bus entry
(8) Record or report of public office → OK if have duty imposed by law to report or factual findings resulting from an investigation made pursuant to authority granted by law unless indicate lack of trustworthiness, list of things that are not exceptions to hearsay rule

(A) an investigate report by police and other law enforcement personnel, except when offered by an accused in a crim case 

(B) an investigative report prepared by or for a government, public office, or agency when offered by it in a case which it is a party

(C) factual findings offered by government in crim cases

(D) factual findings resulting from special investigation of a particular compliant, case or incident, unless offered by an accused in a crim case → no Beech Craft?

(9) Record of vital statistics

(10) Absence of record or entry → need testimony of diligent search in order to prove no record and thus nonoccurrence of usual event

(11) Record of religious organization

(12) Marriage cert, etc

(13) Family record → statement of fact of fam history

(14) Record of document affecting an interest in property

(15) Statement in record affecting an interest in property

(16) Statement of ancient record → 20 years or more

(17) Market report, commercial publications

(18) Learned treatise

(19) Reputation concerning personal or family history

(20) Reputation concerning boundaries or general history 

(21) Reputation as to character

(22) Judgment of previous conviction → has to be felony of someone other than accused (?), can show pending appeal

(23) Judgment as to personal, family, or general history or boundaries

d. Rule 804: Hearsay Exceptions: Declarant Unavailable
(a) Unavailability as a witness)
(1) Witness is unavailable in situations of

(A) Privilege

(B) Witness rather be in contempt than testify

(C) Lapsed memory

· Unavailable for hearsay not for confrontation

(D) Death

(E) Disappearance

(2) Declarant is not unavailable if proponent somehow prevents him from testifying  (would want to do this if changing statement or for some reason really want previous statement)

(b) Hearsay exceptions: Following NOT excluded by hearsay rule if declarant is unavailable → don’t care whether or not dec is unavailable, these are based on either strength out output leg (veracity and ambiguity) in dying dec, dec against inconsistent, prior consistent; or strength of input leg (perception, memory) that makes prior statement better than in ct statement (present sense, res gestae, past med history, bus record, public records, etc.)
(1) Prior reported testimony where party against whom testimony being offered (or someone with similar motive) had opportunity to cross

(2) Dying declaration

(3) Declaration against interest

(1) Pecuniary

(2) Proprietary (penal?)

(3) Tending to subject dec to civil or crim liability

(4) Terminate cause of action by declarant

(5) Make declarant and object of “hatred, ridicule, disgrace” so that RP in declarant’s person would have made statement unless it was true

(6) If statement that exposes dec to crim liability and exculpates an accused (jailhouse confession) need corroborating circumstances of trustworthiness

(7) Vicarious admission not under this exception

(4) Statement of personal or family history

(5) Forfeiture by wrongdoing → if cause unavailability of witness there statement comes in

e. Rule 805: Hearsay within hearsay → Hearsay within hearsay is not excluded under the hearsay rule if each part of the combined statements conforms with an exception to the hearsay rule provided in these rules.

f. Rule 806:Attacking and supporting  credibility of declarant

g. Rule 807: Statement of child victim → Tender years statute

(a) Statement of child not excluded: Child under seven (this is flexible) describing abuse neglect not excluded IF

(1) Court conducts hearing and finds the statement concerns an event w/in kid’s personal knowledge and is inherently trustworthy; AND

(2) Child testifies at the proceeding (or through applicable stat procedure for child testimony like closed circuit TV), if child unavailable to testify than there has to be corroborative evidence of the alleged act

(b) Determining trustworthiness → factors for ct to consider

h. Rule 808: Residual exception

(a) In exceptional circumstances a statement not covered by rules 803, 804, 807 can come in if has circumstantial guarantees of trustworthiness, is not excluded by hearsay rule and ct determines

(1) statement is offered as evidence of a fact of consequence (is relative)

(2) statement is more probative than any other evid that proponent can produce

(3) admission will serve general purposes of justice

(b) Comment → factors to use in determining trustworthiness (seems to be open list) → State v. Toney

(1) Age, education and experience of declarant

(2) Personal knowledge of declarant regarding the subject matter of the statement

(3) Oral or written nature of the statement

(4) Ambiguity of the statement

(5) Consistency with which the statement is repeated

(6) Time lapse btw event and the making of the statement

(7) Partiality of the declarant and the relationship btw dec and witness

(8) Declarant’s motive to speak truthfully or untruthfully

(9) Spontaneity of statement, as opposed to response in leading questions

(10) the making of the statement under oath

(11) declarant being subject to cross at the time the statement was made

(12) recantation of repudiation of statement after it was made

(c) BN: This is catch all exception where evidence is really probative and we have a great deal of confidence in its accuracy, so are going to use it even if it doesn’t’ fall into any accepted category

(1) Cts have been reluctant to use this exception
2. Judgments of Previous Convictions

a. Growing tendency in civil actions to admit judgment of conviction in a criminal context

i. Rule 803(22): Have to be convicted of crime punishable by death or imprisonment over a year (felonies)

ii. Should policy be expanded to cover non-felonies 

(a) Hancock v. Dodson (n. 771): Maj admit guilty plea to misdemeanor under 801(d)(2)(A) and in alt admissible under residual exception

iii. Rozier v. Ford Motor Co. (n. 772): Ct doesn’t allow admittance of involuntary manslaughter against conviction of driver in products liability against Ford b/c
iv. Seattle-First National Bank v. Cannon (n. 773): Bank brought civil actions against D’s who has been convicted of embezzling funds from bankd and trial ct granted SJ
3. Non-Class Exceptions

a. Robinson v. Shapiro (774)

i. Facts: Wrongful death action against Shapiro and Village Towers, Robinson worked for a subcontractor that had to do repairs on D’s building. To gain access to roof, workers had to go through apartment window of Rendo or climb staircase and grab an iron gate to pull themselves on to roof. Rendo told Robinson couldn’t use window, so had to go other way, but iron gate gave way and killed him. Other evidence that Rendo used gate as pen to hold dog. Hearsay question is testimony of co-worker of decedent to testify that Rendo said you couldn’t use window

ii. Ct admitted under residual exception b/c evid was probative and trustworthy (ct said no reason for castro to make up) and corroborated by other evidence

b. Idaho v. Wright  (778)

i. Facts: Mom and her boyfriend sexually molested 2 of their daughters, older one told someone, younger one was unavailable, so ct admitted testimony of examining pediatrician reporting inculpatory statements that 3-yr old made to him

ii. Ct holds that admitting testimony of physician about what 3 yr old says violates Confrontation clause

(a) Here they said that didn’t show enough indicia of reliability and that residual hearsay exception wasn’t firmly rooted exception

(b) Testimonial??

c. White v. Illinois (115)

i. Under Ohio v. Roberts ct can admit testimony under spontaneous declaration or medical examination exceptions w/out producing declarant or finding that declarant be unavailable
J. Constitutional Considerations

a. California v. Green (530)

i. Facts: Kid makes 3 different statements to co, 1st one saying Green his supplier, 2nd one in prelim hearing saying that Green told him where to get drugs and 3rd in ct that he was wacked out on drugs and doesn’t remember

ii. Hearsay exception invoked = prior inconsistent statements

iii. Was there one bite of cross = yes at prelim hearing
iv. Any change under Crawford → NO b
(a) Testimonial statement BUT confrontation satisfied by one-bite of cross

b. Tome v. United States (540)

i. Facts: SC and remand to 11th
(a) SC → can’t offer out of statements to corroborate testimony of child who says father sexually abused her after motive arose for her to lie as prior consistent statements
(b) 11th Cir on remand: Description of past physical condition to physician that is reasonably related to treatment is OK hearsay exception BUT statements to social workers are not
ii. Hearsay exception invoked

(a) SC: Prior consistent statements → have to go this route in fed ct (if in Cali where don’t require as much formality better off going with prior inconsistent) → are using prior consistent statements to doctors/social workers to buttress in ct ID (but testimony of kid wasn’t really an in ct ID b/c too ambiguous)

(b) 11th Cir: Past physical description to physician

iii. Was there one bite of cross → Maybe, maybe not → girls testimony was so shaky could have called her unavailable

iv. Any change under Crawford

(a) Past physical description probably not testimonial 

(b) Is it narrative?

c. United States v. Owens (554)

i. Facts: Prison guard who beat so bad doesn’t remember who attacked him, during one visit in hospital makes ID but on stand says remembers making ID in hospital but can’t remember if D was guy who attacked her
ii. Hearsay exception invoked: Prior consistent
iii. Was there one bite of cross: YES b/c lapsed memory witness is available for cross under confrontation
iv. Any change under Crawford → NO b/c one-bite
d. Ohio v. Roberts (737)
 i. Facts: Boyfriend who is prosecuted for using girlfriend’s parent’s credit cards, girlfriend got on stand at prelim hearing and said he didn’t have permission by the time of trial she has disappeared, ct says that confrontation clause satisfied if witness unavailable + indicia of reliability
ii. Hearsay exception invoked: Prior reported testimony
iii. Was there one bite of cross: YES
iv. Any change under Crawford → NO b/c had one bite of cross in this case, but overrules holding
e. Bourjaily v. United States (590)

i. Facts: Drug prosecution where informant says that D was part of conspiracy, informant gone by time of trial so use audiotape of conversation between informant and Lonardo who mentions “his friend” Bourjaily
ii. Hearsay exception invoked: Co-conspirator vicarious admission
iii. Was there one bite of cross: NO
iv. Any change under Crawford: NO b/c admissions of co-conspirators not testimonial
e. Williamson v. United States (622)
i. Facts: Declarant made oral assertions to DEA agent that inculpated D, but refused to be tape recorded or testify, cts don’t allow statement b/c say statements against interest only count as hearsay exception when declarant is implicating his interest → so entire confession doesn’t count
ii. Hearsay exception invoked: Declaration against interest

iii. Was there one bite of cross: No
iv. Any change under Crawford → CANNOT have this statement come in w/out cross b/c clearly is testimonial
f. Idaho v. Wright (778)

i. Facts: Mom and boyfriend who abuse daughters, ct doesn’t allow statements that younger daughter made to doctor to come in under Ohio v. Roberts b/c physical description furthering treatment not firmly rooted hearsay exception and no indicia of reliability
ii. Hearsay exception invoked: Declaration of past physical condition to further treatment
iii. Was there one bite of cross: NO b/c youngest daughter deemed unavailable
iv. Any change under Crawford: Maybe → depends on whether or not statements to doctor were testimonial or not, probably not so this case probably comes out the other way under Crawford and doesn’t violate confrontation
g. White v. Illinois (796)

i. Facts: Victim of sexual abuse couldn’t tell story in court, so admit testimony of fam member and doctor 
ii. Hearsay exception invoked: Excited utterance and past physical description relevant to treatment 
iii. Was there one bite of cross: Not clear → she came to ct but couldn’t testify, ct never said unavailable → like lapsed witness
iv. Any change under Crawford: If non-testimonial statements than no Confrontation violation
III. Circumstantial Evidence

A. Raw Probability

1. Theory

a. 3 basic ideas that course is covering

i. Allocation of error deflection in system

(a) Ex: Burdens of production, persuasion, presumptions

(b) Various ways we our thumb on the scale to favor a certain side

(c) Are dealing with a set of probabilities (in tipping the scale)

(1) How certain do we want to be? → how strong is presumption, burden

(2) If can’t be certain (which we can’t) which way are you going to tip uncertainty

ii. Hearsay = Rules governing introduction of non-trace evidence

iii. Trace evidence

(a) Trace evidence: Evidence that is related to or caused by the actual event in question

(1) If trying to decide whether hit nail, the evidence on the hammer, wall = trace

(2) Confessions, eye-witness testimony → anything that hearsay governs

(b) Non-trace evidence: Evidence tending to prove something happened but completely unconnected to the event itself

(1) Circumstantial evidence → increases the probability that something occurred without having direct evidence that it actually did occur

b. Distinction between trace and non-trace

i. Problem is we can almost never be 100% sure that something happened so the best we can do is deal with what we perceive (and we have no idea how accurate that is even after cross, etc) → what we perceive is based on probabilities of being correct too

(a) 19th c. notions of cause and effect being replaced with notions of probability

(b) If this is true than distinction b/tw trace and non-trace makes no sense b/c both means of establishing probabilities

ii. Problem with non-trace evidence being treated the same as trace evidence

(a) Raw stats (evidence about a persons past, character, habitual behavior)

(1) Evidence that pre-existed the event in question

· Trace evidence DID NOT pre-exist event

(2) If the event never occurred would have the same evidence

· If the event did not occur there would be NO trace evidence

(3) He seems to think this point is enough to treat differently than trace evidence → with trace seem more confident that SOMETHING occurred and have mechs (cross) to get at truth 

(b) Scholars think distinction btw trace and non trace wrong b/c both based on probabilities

c. Paradigm example of non-trace evidence = Statistical probability

i. Stat evidence = when put in all variables get 75 (or whatever number) % probability that something happened

(a) Is this enough to get you past production burden? → I think yes b/c reasonable jury could think this evidence was enough to convict, but then if think that then have to let it satisfy production burden → give them a presumption to get past burden

(b) Should raw statistical probability be enough to satisfy persuasion burden → NO, maybe rule if are going to allow to satisfy production burden that we make policy judgments that not allow persuasion burden to be solely rested on probabilities (at least in crim cases), at least let them rebut presumption

(c) Should a distinction exist in civil and crim cases? → I think yes, crim cases would have a confrontation problem if only have probabilities → but then that might be non-testimonial evidence and not subject to confrontation clause

ii. 3 questions state can be used to answer might want to treat them differently
(a) Will event happen in the future?

(1) Using raw stats is really only mech to prove this

(b) Why did event happen?

(1) Having to deal with intent here
(2) I think real problem with basing intent on probabilities → this is where trace evid might be most imp b/c of notion of free will, just b/c might have propensity to do something doesn’t mean you actually did it
(c) What actually happened?

(1) Using stats probably best mech to get at truth

2. Cases

a. Smith v. Rapid Transit, Inc. (51)
i. Facts: Passenger car has to swerve to miss bus that is driving crazy

ii. Burden of proof issue

(a) No trace evidence that this bus belonged to D

(b) Have non-trace evidence that bus from D did leave garage at time that would have put it at place where accident occurred 

(1) ct says this is NOT enough to satisfy production 

(2) BN thinks that most Amer judges go this way → raw probability alone never going to be enough to satisfy production burden (minor premise based on raw probability not enough)

(c) What if don’t argue about whether evidence can come in, but alter burden or create a presumption

(1) Create Thayer presumption that if are the only co with license to run a bus on this street and an accident occurred on that street then presumed to have been your bus

· This shifts risk from plaintiff to bus co

· They can always rebut this with evidence that it was not there co

(2) Evidence law not just about the truth → is designed to influence behavior

· If create this presumption than bus co has more incentive to be more careful, if leave it the way it is they are never going to lose and have no incentive to be careful

(3) Creating this rule would force bus co to present trace evid (records, bus driver’s testimony) to rebut presumption, if no presumption than can win with silence → if goal of system to reconstruct truth than presumption going to do better job of doing that

(4) Always make argument about production/persuasion/presumption → judges listen

iii. What if had drunk who stumbled out of bar and saw accident, saw and R on the side of the bus

(a) This is trace evidence → satisfies production burden

(b) So we will take thinnest trace evidence and not strong non-trace evidence is satisfying production burden → why??

(1) Value judgment → free-will

(2) There is a cultural tendency to shy away from stat evid → don’t want to think of ourselves as trapped in some math model, where we can’t choose our own destiny
(3) Interesting phenom of academics who advocate getting rid of trace/non-trace distinction then become judges and change their mind

b. Hypos

i. Blue bus example: 10 buses, 8 blue and 2 white, all randomly cross a particular square where somebody is hit by a bush, so can we say there is an 80% chance that it was a blue bus, so that is enough to get by 51% (prepond standard) needed to satisfy production burden

(a) NO → Georgia death penalty case, okay to use stat evidence to prove intent BUT not okay to use stat evidence as sole basis to satisfy production burden (that event actually took place)

ii. Gatecrash hypo: 

iii. Prison riot:

iv. Thinks to think about

(a) Burden of proof

(b) What can states be proved for → intent okay, burden of production not

(c) How do you present evidence

c. State v. Rolls (61)

i. Facts: Guy is alleged to have committed sexual offense, police arrest him near scene of crime and see blood on his pants, series of test that prove that blood not his and is the girl who was abused (only 5% of pop has this blood) → just like DNA
ii. Ct affirms convictions and says that reasonably jury could find D committed this offense based on this evid and other trace evid

iii. How is this different from Smith?

(a) This is actually trace evidence → blood on the jeans

(1) Are using stat evidence to interpret probative value of trace evidence
(2) DNA is trace evidence → is correlation of probative value of trace evidence (the fibers, etc.)

(b) Smith → totally non-trace evidence

(1) BN thinks that can’t reverse Smith b/c of notions of predictive determinate would take over and would focus attention on character of D rather than his acts → there are still values protecting Smith → so line b/tw trace and non-trace still worth something

d. Battleground areas

i. Title VII

(a) Can trigger MD presumption with stat evidence alone → so use of stats is enough to satisfy production burden

(b) Stats not being used to prove that an event occurred (Smith) but are being used to prove WHY and invent didn’t occur

(1) Intent doesn’t create trace evid → so if don’t let use probabilities going to have 0 evid

ii. Mass torts

(a) P’s have to build model of cauasation based solely on stat evidence → settlements based on how strong this model is or not

(b) He thinks that toxic tort evidence is like DNA → trying to demonstrate existence and probative nature of trace evidence that already exists (trace evid being that took pill, were exposed to chemicals, etc.)

(c) If are using stats to figure out whether something (blood, sickness) is trace evidence that is fundamentally different than using stats to decide if something happened at all (Smith, blue bus)
e. Need to remember that evidence rules not only about reconstructing the truth, there are a lot of other values (free will, const rights) that are trying to enforce through evid rules

B. Evidence of Prior Wrongdoing

1. Model/ Theory

a. Person’s past: Statistical probability that a person acts consistently with their behavior in the past → for the most part behavior propensities probably accurate

b. 3 levels of risk of past behavior coming in → different rules

i. Passivity → doesn’t take stand, doesn’t offer evid about his character, does nothing

ii. Testimony 
iii. Affirmative use of past as advantage for yourself → want to show good rep

c. Need to apply 3 levels of risk to 4 different situations and ask if rules are the same/different

i. D in crim trial

ii. D in civil trial

iii. Victim

iv. Ordinary witness

d. Zachowitz rule: Propensity evidence is inadmissible to prove that D acted with propensity in committing a certain act
i. Facts: Capital murder case where guys on street are harassing D’s wife, D takes her home, she tells him what they said, he gets pissed and goes back to guys on street, fight is started, he shoots one of them; When police search his house, find an arsenal of weapons (this is non-trace evidence) and P tries to admit to show that murder was 1st degree (that if had arsenal going to commit intentional murder), D’s defense is heat of passion

(a) Cardozo opinion saying can’t use propensity evidence b/c want to make sure that are trying D for what he is alleged to have done day NOT for what kind of man he is

(1) Propensity evidence pre-existed actual event and would probably exist if event hadn’t occurred

(2) This is using non-trace evid to link person to event on a certain day

(b) Dissent: Once we have invested so much in a legal system that determines levels of fault and gradations of punishment based on intent of perpetrator then should be able to use whatever we can to find intent

(1) After Zach, continuing fear that this rule excludes highly probative, relevant evidence when we admit other evidence that is much less reliable (drunk eye-witness)

ii. Arguments in favor of Zachowitz rule

(a)  Propensity evidence not probative enough
(1) Character propensity not really a good predictor of behavior b/c cannot whether a person acted consistently with their character (or even what their character is) until know all the situational variables

· In order to say what kind of person this is have to show situational variables of previous incidents AND show all the situational variables of current incident

(2) Counterargument: Let D explain why this situation didn’t fit in with his propensity

· 5A problem

(b) Using propensity evidence will lead to overregulation of people’s behavior
(1) If people know certain types of behavior going to be used against them then won’t engage in that behavior even though it is Const protected 

(2) Need to be conscious how evidence rules shape deterrence in ways that are going to over/under regulate

(c) Overly prejudicial
(1) Evidence of past becomes the dominant evidence → create huge worry that are trying a man not for his behavior on certain day but based on his behavior throughout his whole life

(2) Creates collateral evidentiary problem

· Have to have mini-trials about whether events that are being used to prove propensity actually took place or not

(3) Past conduct shouldn’t be held against you forever

· Gen problem with crim law → at what point does fact that you did something in the past stop haunting you

iii. Note: Zachowitz only applies to situation where D is passive

e. Zachowitz is based on value judgment that propensity is not sufficiently relevant to use - exceptions are based on alt theory of why propensity is relevant to use → MIMIC

i. Motive: Offer past to prove motive NOT propensity (propensity somehow demonstrates motive)
ii. Intent: Offer propensity in order to show D acted with intentional mens rea
(a) Title VII: Offer propensity of racist boss not to show that he is virulent racist but to show that he is intentionally repeating patterns of behavior
iii. Mistake/Absence of: Knowing the past can help you rebut argument of mistake → if had committed same act in the past is relevant in rebutting mistake argument
iv. Identity: Identity of D is somehow at stake and acts in the past show that this is same person
(a) i.e. Motus operandm
v. Common course of conduct: Have to show there was a larger plan of which 2 pieces (propensity) actually occurred and it likely that 3rd event (one D is on trial for) occurred  b/c is consistent with larger plan
vi. Opportunity: You were in possession of something that allowed you to commit crime (i.e. police catch you with burglars tools)
vii. MIMIC exceptions are tip of iceberg → all you need to do is imagine plausible scenario where past behavior is relevant not to prove propensity but to prove another fact which his relevant

f. Fed rules

i. 403: Exclusion of relevant evidence on grounds of prejudice, confusion, or waste of time
a. Safety valve where even if something is relevant, judge can exclude b/c too prejudicial (balancing test btw probativity and prejudicial impact)

b. Problems with this rule

(a) Subjective

· No consistency from one judge to the next

· Arbitrary at least in crim context b/c who you draw as judge can make huge impact in outcome of case

(b) Unpredictable

· To the extent that a evidence is subject to balancing it makes it impossible to predict in advance what the outcome of the test is going to be → hard to formulate strategy

· If trying to get in under 404(b) exception have to give advance notice so can have pre-trial hearing on admissibility → this is usually last act before the plea, so pleas are dependent on how the judge rules on admissibility of a certain piece of evidence

ii. 404: Character evidence not admissible to prove conduct; Exceptions; Other crimes

(a) Character evidence generally. Evidence of a person’s character or a trait of character is not admissible for the purpose of proving action in conformity therewith on a particular occasion, except:

(1) Character of accused. Evidence of a pertinent trait of character offered by an accused, or by the prosecution to rebut the same, or if evidence of a trait of character of the alleged victim of the crime is offered by an accused and admitted under Rule 404(a)(2), evidence of the same trait of character of the accused offered by the prosecution

· If D puts character in play → P can use character evidence to rebut

· If D puts character evid of victim in play → P can use char evidence showing same trait of D

(2) Character of alleged victim. Evidence of a pertinent trait of character of the alleged victim of the crime offered by an accused, or by the prosecution to rebut the same, or evidence of a character trait of peacefulness of the alleged victim offered by the prosecution in a homicide case to rebut evidence that the alleged victim was the first aggressor

· P can offer evid about victim to rebut any evid that D puts in

· P can offer evid about victim being peaceful in homicide case if D tries to say victim provoked
(b) Other crimes, wrongs, or acts. Evidence of other crimes, wrongs, or acts is not admissible to prove the character of a person in order to show action in conformity therewith. It may, however, be admissible for other purposes, such as proof of motive, opportunity, intent, preparation, plan, knowledge, identity, or absence of mistake or accident, provided that upon request by the accused, the prosecution in a criminal case shall provide reasonable notice in advance o trial, or during trial if the court excuses pretrial notice on good cause shown, of the general nature of any such evidence it tended to introduce at trial.

· When D goes with 1st level of risk (passivity) subject to MIMIC exceptions

2. 1st level of risk: Passivity and MIMIC
a. United States v. Accardo (815)

i. Facts: Prosecution of mobster for fraudulent deductions on his taxes, prosecutor is trying to get in propensity evid of tax returns where he reports large amts of income (that are from gambling) but doesn’t say how he got it, IRS told him he had to say where he got it so he says he is a beer salesman and then takes deductions based on being a beer salesman

(a) P makes motive argument to get in tax returns → that need to show that he had a motive to make up story and therefore the deductions based on this story were fraudulent
ii. Maj doesn’t let in b/c says gambling income had no relevance to taking improper deductions, dissent says that motive to lie is relevant

b. United States v. Montalvo (821)

i. D1 got picked up for having a bag of heroin, police arrest D2 b/c think he is part of conspiracy and find on him blade encrusted with heroin, gov’t introduces blade and chem. Analysis of blade 
ii. Friendly lets in on theory of opportunity
(a) BN thinks this is wrong (just b/c have knife that was used to cut heroin didn’t mean you actually cut heroin) → is clearly in violation of Zacowitz but example of how judges going to bend over backwards to let this stuff in

c. People  v. Steele (822)

i. Facts: Drugdealers can easily spot undercover cops, so agree to make sale of heroin, get $ then give them talcum powder so they can’t prosecute, so Illinois passes consumer protection statute that makes it felony to say you are selling heroin then actually give talcum powder; P offers testimony of undercover cop who testifies in the past that he bought heroin from D so had a reasonable expectation that he was purchasing heroin this time 
ii. Ct allows in under theory of common course of conduct (prior acts)
iii. This is case where need to question probative value (that he had bought drugs from D before) against prejudicial impact of D being a drugdealer → where balancing test problems come up
iv. Substantive issue → whether there can be a felony for selling talcum powder has not come up

d. People v. Beck (843)

i. Facts: Guy is accused of stealing check and checkwriting machine and then passing fraudulent checks, accused of passing at Store A, but offer evidence he did same thing at stores B, C, D, E but don’t charge with it

ii. P’s rationale is common course of conduct → stole machine and then passed checks

(a) If D wanted to introduce evidence that someone else passed checks from this machine at F, G he could do it w/out theory of relevance but for inculpatory past crim acts need to show common course of conduc
3. Insanity
a. People v. Santorelli (826)
i. Facts: Guy shoots brother and then offers theory of temporary insanity and that he was operating under insane delusion that brother was out to get him (he was getting pressure from FBI to be mob informant); P wants to offer evidence of prior episodes of violence to show that this guy has an explosive personality disorder (you are sane you just have a really bad temper)

ii. Question is when you plead insanity what level of risk are you at (1 or 3)

(a) Common law rule when plead insanity is that are at level 3: There is a behavioral (character) explanation that makes it impossible for you to impose culpability on me, so everything should come in so jury can decide if he really is insane and the nature of the alleged mental illness

(b) If you are at level 1 (MIMIC level) → none of this comes in

iii. NY Ct of Appeals says not really at either: You are allowed to rebut theory of insanity with past BUT you need 2nd level of relevance  based on 2 categories of past behavior

(a) General viciousness

(1) Can’t be offered to rebut insanity b/c don’t know what kind of stress D was under or what he was reacting to
(2) back to idea that char propensity dependent on situational variables

(b) Any past act that is relevant to theory of why he isn’t insane is OK to admit
(1) In this case any evidence of a bad reaction to stress would be admissible

iv. BN thinks this is a stupid distinction b/c not fair to ask P to rebut sanity BRD by making such a fine distinction btw acts that are clinically defined to be consistent with a perception of a personality disorder and acts which are just vicious → what if D is just vicious

(a) This is now emerging law

(b) Major problem with this is that it creates an incentive for P to be analytically precise

(1) If P locks himself into a coherent theory on why D is not insane can only use past evidence that directly supports that theory

(2) P might be better off using amorphous he is a violent man theory

4. Taking past out of MIMIC exceptions by stipulation

a. If you stipulate to the fact that the government is using to get in past then the gov’t can’t get in past

i. Lots of time gov’t using facts you don’t care about to get in past which you do care about

ii. If you can stipulate to a fact that P is using to get in MIMIC exception w/out hurting client then should do it

b. United States v. Figueroa (835)

i. Facts: Dropsie case, DEA agent trying to do undercover deal set up by informant, when they go outside to do switch, D starts running, agent goes after him but when he gets to him, heroin is gone → threw it into crowd; P wants to get in priors for selling heroin 

(a) B/c so many dropsie cases ct of appeals shifted burden of proof to BRD that D had it and dropped it 

(b) Since no chem. Analysis of heroin → let in b/c DEA agent testifies it was →??

ii. P’s theory of admissibility: In order to be able to sniff out that agent was a rat had to have experience selling heroin → seems like common course of conduct exception (but P never stated why it was explicitly relevant

iii. There was issue about whether substance was heroin (why trial judge let in priors)

(a) Acosta’s defense was that he wasn’t involved, so he stipulated that substance in bags was heroin

(b) Prior acts are irrelevant (even if he were disputing what was in bag) b/c P has to prove BRD that Acosta was involved and just because he had past prior convictions for heroin doesn’t prove that he was involved in this sale of heroin

(c) No basis for admitting priors other than propensity so out under Zach

5. Sexual behavior

a. Deviant sexual behavior is one area where there is scientific evidence that there is a propensity to repeat

b. Common law made a general exception for sex → MIMIC rules don’t apply with same intensity

c. Then 404 started to overrule and apply (how in rape cases D’s past was off limits but could go after victim)

d. Rape shield laws

i. Immunize victim and make D’s past admissible

ii. Scholars think this is going too far → either admit both or neither

6. What is overarching explanation for all of these rules?

a. Simply instrumental judgment of what evid is too probative or not probative enough?

b. Deeper theory (BN) → in hard cases ask if the rules are likely to affect primary behavior and then apply Erie, if the rule are only likely to effect secondary behavior (post-event behavior) then Erie doesn’t apply and can apply haphazard fed ruels

i. Primary behavior = Behavior that took place before the incident

ii. If it is the deep role of law to influence the way people behave we should think about evidence rules in that framework as well

iii. Hypo: Suppose that you are in a bar and get into an argument with the person next to you, the law at that point wants to inhibit you from attack that person (pre-event behavior)

(a) Trace evidence: If there is someone else sitting there are less likely to hit the person b/c then have eye-witness against you

(b) Non-trace evidence: Evidence that is already locked into place → isn’t going to effect your primary behavior

(1) This is one argument why don’t use non-trace evidence → BN thinks this is wrong

(2) If are trying to encourage good primary behavior should let in entire past so that people are encouraging people to behave all the time

iv. One reason advanced for not letting past in is b/c have to have mini-trials 

(a) Huddleston
(1) Changes law so says that everything goes to the jury and jury gets to decide what did and did not happen in past (with very careful charge)

(2) Makes it easier to bring in things from the past without producing corresponding levels of proof that D actually committed the past acts

· Creates D nightmare that D is getting smeared with something that didn’t happen

7. Severance → People v. Castillo (868)

a. No hard rule for what charges have to be severed and what don’t

i. D argues that should test separate evidence and see if could be used in trial of other charged offense → if doesn’t get in under MIMIC exception (common course of conduct usually) then have to sever

ii. P argues for efficiency

iii. Cts basically do a balancing test of unfairness to D and efficiency for P = very subjective

8. 3 situations when MIMIC altered 

a. 3-strike laws

i. As we start to criminalize behavior based on D’s past behavior the D’s past is going to have to come in more

b. RICO

i. Statutes punishes status not acts → are punishing someone for being habitual criminal not a particular crime that they committed

ii. In order to establish predicate acts, a person’s past becomes crucial

c. Entrapment

i. If you raise an entrapment defense then your entire past comes in because jury has to judge whether or not you have a propensity to act in a particular way (one time where gov’t got you or did you do this all the time)
C. Character Evidence

1. Theory for Character of D
a. Character evidence is what happens when D decides to put his character into play → level 3 of risk

b. 3 ways to prove character

i. Reputation

(a) Congealed hearsay → this witness is purporting to be expert about community that D lives in

(b) Cross mech

(1) Have you heard questions → try to show that this witness isn’t really the expert on the community that he purports to be → need good faith belief that the substance of the have you heard questions are actually circling

(2) Michaelson (875) is example of cross mechs here

(c) Lots of juris stalled here

ii. Opinion

(a) Based on 1st person observations about the person

(1) I know this person is honest b/c of

· Rep in community; AND

· I have seen him behave honestly on a # of occasions

(b) Cross mechs

(1) Can’t use have you heard questions b/c this person not saying they are expert on what community thinks of D are holding themselves to be an expert on D’s behavior

(2) Prob that comes up here is that can bring in a lot of stuff (prior records, etc.) and ask if those facts would change witnesses opinion

(c) Fed rules allow both opinion/reputation

iii. Specific acts

(a) Prove specific acts that show character

(b) Problem (reason why most juris don’t allow) is that wets up whole problem of mini-trials

2. Theory for Character of Accused

a. 2 ways to prove character of victim

i. Want to show that victim had terrible character and D knew it (Burgeon 891)

(a) Aren’t trying to prove propensity here are trying to prove reasonableness of D’s behavior

(b) All juris admit under this theory → question is of how, there is much more willingness to allow rep, opinion and specific facts

ii. D didn’t know character of victim but turns out that it was bad so he probably initiated the violence

(a) Tougher to let in → all the worries about situational variables

(b) BUT most juris allow in under any of 3 ways

b. Is it fair that such different rules for victim/D?

i. BN thinks NO → either let in both or neither

ii. Control of the past is given exclusively to D → why?

(a) Barriers against state action against indiv

(b) Our system tends to give D all the breaks it can

(c) Less past evidence comes in → less admin burden of mini-trials

3. Character of Witness

a. Trad rule: If witness testifies than the level of risk they have to deal with is their prior criminal convictions

i. based on 3 factors

(a) How old is conviction

(1) Fed rules → has to be 10 years or less

(b) How serious

(1) Fed → felony → very imp in pleading

(c) What were you convicted of

(1) If conviction related to dishonesty going to come in

b. So if D takes the stand, his level of risk metamorphasizes from MIMIC into crim convictions

i. Is this justifiable from policy perspective?

(a) Witness is being impeached with crim convictions, aren’t proving propensity, to get in going to have to make distinction between propensity and credibility

(b) Do crim convictions make you more/less credible?

ii. If put opnion witness on stand → D’s convictions are fair game

(a) If don’t put opinion witness up there → crim convictions out

4. Sex Cases

a. Change rules for cases involving rape, sexual abuse, child molestation, incest (Fed rules 412-415)
i. Victim’s past a closed book except for 3 exceptions

(a) Prior act of sexual intercourse → victim had sex w/someone else that caused trace evid

(b) Prior sexual relationship where consent existed

(c) Prior sexual acts are relevant for something other than propensity

(1) Major prob with rape shield laws

(2) Is same prob that MIMIC does to Zachowitz, can always think of alt theory of liability

ii. Open D’s past

(a) Value judgment → horror at problem in prosecuting rape; OR

(b) Empirical judgment → if deviant sexually propensity actually is relevant

b. Const concerns

i. Rape shield laws haven’t been tested → might violate 6A → D should be able to use whatever evid to get himself off the hook

5. Civil Cases

a. Greater reluctance to use past in civil cases than in crim (bit counter-intuitive) → common law

i. Civil cases more about non-volitional acts

(a) Crim cases → levels of intent are purposeful/intentional

(b) Civil → negligence → SL

(c) BN not really sure this is true

ii. If let in past evid in civil, then D would be convicted of past acts, focus of trial wouldn’t be on actual event

b. Crumpton (907)

i. Where civil case but the same sort of issues as in crim case (issue of volition, or behaviors that have crim implications) → then crim rules about getting past in apply otherwise civil rules do

(a) If nature of illegal act being alleged is more analogous to crim → past comes in

(b) If nature of act is regulatory, w/out moral implications → common law and much harder to get past in

c. Exceptions where do allow past in civil cases

i. Dallas Railway (914) → Common course of conduct explained by narrative frame

ii. When past activity so repetitive and constant to take on characteristic of a habit

(a) Propensity requires volitional thought

(b) Habit does NOT require volitional thought
